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i
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PART A

The area of the shaded region in em’ is

Im
Som g
Jom
.

I {ﬂ'—ﬁ] 2. (x-2)
g, [%—%J 4. (x+2)

The angles of a right-angled triangle shaped garden
are in arithmetic progression and the emallest side 15
1000 m. The total length of the fencing of the
gardsm inom is

1. 6000 2. 4732
3 1268 - 4, 2268

AB is the dismeter of the semicircle as shawn in the
diagram. [T AQ = 2AP then which of the following:
is correct?
L]
r

A B

. £APR= .;_f: A0
ZAPB =22 AOR
LAPB = £ ADE

4, .iAPB=~:T£AQﬂ

The rabbit population in community A increases at
25% per year while that in B increascs at 50% per
year. [f the present populations of A and B are
caieal, the-ratio of the number of the rabbits in B o
that in A after 2 years will he

1. 1.44 2o a2
3. 190 4, 125
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Two moles each of Oy and Ty are in twvo separate
corlaimers, gach of volume ¥, and at 150 *C and |
gtmosphere. The two are made o react i a thind
container 10 form  water vapour wnil H;
exhausted. When the temperature of the mixture in
the third containgr was restored 1o 150 20, s
pressure became 1 atmosphere. The volume of the
thard comaings must be

1., W 2

1. 302 4,

Helimm and argon gases in e Separile coniainers
are al the same lemperature and so have different
rooi-mean-sqiare (T.m.5.} velocitics. The two are
mixed o2 Uned contamer keeping the same
temperature. The ros. velocity of the haliwm aoms
in the mixmeng 5

Sk
g

serars than whal it was before mxing.

less tham whatl 18 was belone mexing.

equal 1o what it was before mixing.

equil o that of argon atoms i the maxiueg.

o The uneral tals 5 used i the manufacture of soap

hecanse i

{a) wives bulk to the produect

k] kills pacteria

{c) gives fraprance

{cd] 15 50ft and does not serutch the skin

Whech of the abave statements isfane comeet?

L. [d} 2. {ayand {c)

3. [a)and (b) 4. [a) and i)

[ of an inorgase coanpound 205000 coataining
a volatile impurity was kept inan oven at 130 %C for

&0 minutes. The weight of the residue after heating
is & ¢ The percentage of impurity in 20 was

1; 19 = o8
3. 20 4. 8O

Om a ¢ertain night the moon in its waning phase was
2 half-mnan. At midnight the moon will be

on the eagtem honzen,

at 45% anpular height above the castemn horizon.
et the zenith,

02 the western homzon,

= ol i
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5

10. A gemstone is iradiated in a nuclear reactor for 5

I1,

days. Ten days after imadiation, the activity of the
chromiwm radivisotope in the gemstone §s &0
disitlegrations per hour, What is the activity of
chronuum radioizotope § days after imadistion if its
half life is 5 days?

. 300 2. 130
3 2400 4, 1200

Lisplacement versus time curve for @ hody is shown
in the figure, Select the graph that correctly shows

the variation of the velacity witl time

i
: e~
& e B
a P | ] .
L]
B Tl
. ] . .
e
ok 1
= -
B £
1 ,
1
| L L Iy 7 1, i, E
S e
] Ha
i e
3 % g iy : L h- L]
i e
12:

BaA
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Ground Surface
1]

1. A moamre & o v B, C, D afe B &)
2. R movprs & gwa am g AL B C s D #)
3. D ooy & et ae meaw O, B, A v ROE
4.0 geewms o gad o wan BB CaR D H

13.

14.

15.
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The spring balance in Fig. A reads 0.5 kg and the
puan balance in Fig B reads 3.0 kg, The iron block
suspended  from the spring balance is partially
immersed in the water i the beaker {Fig, C), The
spring balance now reads 0.4 ke, The reading on
the pan balance in Fig. C is

. 30ke 2. 29kg
3. 3lkg 4 35kg
The ends of a rope are fixed to two pegs, such thal

the rope remaing slack. A pencil is placed against
the rope and moved, such that the rope always
remaing taul. The shape of the curve trmead by the
pencil would be a part of

1. aamcle 2. ancllipse
3. asquare 4.  atnangle
During ice skating, the blades of the ice skater’s

shoes exert pressure on the iee, Ice skaler can
efficiently skate becanse

1. ice gets converted to water as the pressure
exerted on il increnses,

2. ice gets converted to water as the pressure
exerted on it decreazes.

3. the density of ice in contact with the blades
decreases,

4. blades do not penetrate into ice,

Four sedimentary rocks A, B, C and D are intruded
b an igneous rock K as shows in the cross-seclion
dizgramy, Which of the following 15 comect about
their ages?

Ground Surfaca

A is the youngest followed by B, C, D and B.
R is the voungest followsd by A, B, C and D,
I iz the younges] followed by ©, B, A and B
A ks the youngest followed by B, B, C and [,

bt sl s i
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Lix.
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The girain in a solid subjected to continuous SWess i
plotted.

fatlure

i

Strain —=

Stress —

Which of the following statements is true?

1. The solid deforms elastically till the poant of
failure.

2. The solid deforms plastically till the point of
failure.

3. The solid comes back to original shape and size
on failure. ]

4, The solid is permanently deformed on failure,

Growth of an organism was monitored at regular
intervals of time, and is shown i the graph below.
Aroend which time is the mie of prowth zero?

Edorniea [g]

= X
e fdars]

10

Close to day 10,

On day 20.

Between days 20 and 30
Between days 30 and 44,

e

18. A Talf plant with Red seeds (both dominant traits)

was crossed with a dwarf plant with white seeds, 1f
the segregating prageny produced equal number of
tall red and dwarf white plants, what would be the
genotype of the parents?

1. TiRr= TIER
2. TiRr = thr

3. TTRE x ttrr
4. TTRE x TWRr
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1oatab+ab’+ . =all-b) for b=

[

a=h ooy g b
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4, a=h @t g —a<-b

B https://pathfinderacademy.in/

19. Three sunflower plasts were placed in eonditions as

0.

imdicated below,

Plant A 580 air

Plant B : moderately tucbulent air
Plast O : s6] st in the dark

Which of the tollowing statemeants is correct?

1. Trangpiration rate of plant B > that of plant A
2, Transpiration rate of plant A = that of plan B.
3. Transpiration rate of plagt C = thal of plant A.
4. Transpiration rate of plant C = that of plant A =

that of plant B,

Which of the following is indicated by (e accom-
panying diagrim?

1. a+ab+ab’+ . . =a(1-b) for bj<]
2. a>bimplies o’ > p
3. (athy =ab + 2ub +b°

4. a>=b implies =g < —§
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PART I3

Which nitropen of adenosine gets protonated if
the pll of fhe nucleoside 15 lowered [oom 70 37

™3
Mo

1. M1 &:
3. N7 4,

. The cligopeptide, F-A-R-P-M-T-5-E-P-G-F, i3

treated with invpsin, chymotrypsin and carbo-
wypepiidase-B. Apart fram the oniginal peptide,
the number of fragmeants obainaed will be:

I e
L 4. 0

Which one of the following interaction plays
& major role in stabilizing B-DNA?T

1. Hvdrogen bond

2. Hydrophobic interaction

3, Wan der Waal's interaction
4, lonic intergcticn

Phosphatidyl serine, an imporiant component of
biolagical membrane, 15 located in

[ the outler leaflet but flipflops 1o inner
lzafict under specific conditions.
both the leaflers,

the middle of the bilaver.

the inner leaflet but ipllops 10 outar
[zaflel under specific conditions,

En Lk B3

Major disadvantage of using liposome as a
targeted drug delivery vehicle is that

1. it gets internalized by phapocylosiz
inside lysosomes.

2. itis very unstable and has low shelf-life.

3. i pets intercalated in call smembranes.

4. it's drug emrapment efficienoy is very
Tow,
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16, Major stimulus for spore formation in bacteria 13

26. it 4 dhary PPy 87w sty W

T,

28

24,

2 By

.  nuteition lmitation,
|, v @ S gy 2. hoat stress.
7] L = .'l' Cﬂ'lrj Elross,
S b A H siress.
3. ofmew a g e T
4, pH mw BT

ATP-amsirs @ (ABC) wrs®

I, =l & el Popegaluldlr gid & ¢

2, wra gt o & oy A

3, gl F Ry & wEeE e e
Erfl-uray s st ATP-amersy 85 f
bttt ey T B e ol i e ol
e B

e

weft e oty {9 Wil Pefr gew

v wolt & W oo fww W ow aai f amv

Py waw el & o g

. fgaw 7 avww o7 walfoer aon & )

2. AW F e QT wh s o

3. sElgaw v o B G # awan T
Wl gy £y
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-3 T weaw geeee i 7
¢ gy T wiet £ o oy B
gwnt aF & W B 8 ¢ pw B w)
W v & [ amavay varn &

gk

28.

29,

ATP-hinding cassette {ABC) transporters

are all P-glveoproteins,

are fouwsd only in eukaryotes.

are hoth: & membrane-spanning domain
that recopmizes the substrate and an
ATP-binding domatn,

4, aflect translocation by formims chanmels.

el bk —

Al eytosolic proteing have miclear cxport
signals that zllow them o be removed from the
mscloes when it reazsenibles aller

ML s,

IMALELS,

boeth mewsis and mitosis,
(XA replication,

F O

Sile-specific recombination resulis in precise
[NA rearrangements, which is limled to
specific sequences. The sneymes that ane
important 1o carry out the process ane

L. et el sy Sy g [. resteiction endonuclease and DA
2. gisETd At engha polymerase.
3. Shyav i v ke 2. nuclease and ligase.
4, dhmy sl s drer e 3. DA polymerase and ligase,
4, DMA polymerase and [INA gyrasc.
30. 7y wemEwEnT FTTY (sIRNA) 8w & frer

A Tt T e Wy Ay 87

1. siRNA ¥21-25 gfiwriens ager S
giet & frrdl o &b 3 o g welfe fmeand)
Cr. o

2, siRNA anv v r-pitT @few (RISC) zmr

wenfehT fivay e &

siBNA gre s Frer s shor £

4, siRMNA B sehe & e o iy T
Fwr

3T

0.

Which of the following slatements 15 NOT free
abaul simall interfenng BRNA (siBMNAY Y

1. siRMA has a 21-25 nueleotide sequence
with 2 nucleotides overhanging at the 3
enid.

2, siBNA i processed by the BN A-protein
complex RISC.

3. siRNA i oflen induced by viruses,

4. ziBEMA does oot genacally act at the level of
franscniption.
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Which of the following statements is
INCORRECT in relation o treatment of pre-T
cellz with phorbol csters 7

1. Phertol esters activate NFxEB for
translocation inta the nucleus.

2, Phorbol esters activate protein kinase C.

3. Thorbol esters lead o phesphorylation of
MExE.

4. Phorbol esters remove the inhibitor from
mactive NFxB complex in the eytoplasm,

Fresence of an intermal ribosome eniry site
(IRES} in mENA

L. enhibits ils translation:

2. promotes ils post-transcriptional
Proccssing.

3. has no impact on its ranslation,

4. promotes its translation under adverse
conditions,

Regulatory elements for expression of
ribosomal BNA genes reside in the

1. transcribed spacer region.

2, non-ranscribed spacer region.

3. 3'flanking region of individual ribozomal
EMA penes.

4. intemnal regions within the genes.

Mycobacterinm tuberenlosis is an intra-cellular
bacteriumn. Il prefers to infiect

macrophapes.
B-cells,
T-cells,
neutrophils,

SR

35. Integrin molecules link extracellular matrix

(ECM]) to the actin cytoskeleton of ¢l
Integrin binds 1o which of the following ECM
macromolecules?

Laminin
Collagen
Fibronectin
Vitronectin

e B
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| 36,

3.

CD19 s o marker for

B-calls,
T-oelis.
macrophages.
NE. ¢ells,

Fasibosdl oo

Given below are fate maps of two organisms
and the patierns by which embryes  undergo
cleavage, Which of the following isfare the
right combination(s)?’

Boand A
B and [

1. Bonly 2
A Aand O 4.

38, Which one of the following matches of

39,

oncogene-protein product 18 NOT comreet?

1. el ~ thyroid hormone receptor.

2. erbB - epidermal growth factor receptor.

3. rog — guanine nuclestide binding prstein
with GTPaze activiry.

4. fos - platclet-derived growth factor
recsphar,

Spermatogomal stem cell undergoes extensive
metamorphosis © became a4 spermatoxoan.
Meiosis leeds to the fomaton of specmatid
containing 22  autosomes and  one  sex
chromosome, A male mouse was found in a
colony which always produced only female
parps wpon mating.  Which one of following is a
possible reason?
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1. Spermiogenests was deloclive.

2. All spermatopgonial stem cells contained
only X and no Y chromosarme.

3. activation of ¥ chromosome linked post-
mewotic death related gene may lead
o such a situation.

4. activation of X chromasome linked post-

Al

41.

41

43.

meiotic death related gene may lead
to such 2 sitluation,

In case of Xemopus fevis, which cells make up
the Nicuwkoop centre and Spemann’s orgamzer?

endodermal and mesodermal, respectively.
riesedermal and endodermal, respectively.
endodermal and ectodermal, respectively.
ectodermal and endodermal, respectively.

Fu e Bl

The ced-9 pene appears to be a binary switch
that regulates cellular survival and  apoptosis
in nematedes.  Considering that CED-9 pratein
can bind 10 and inactivate CED-4, which of the
following would lead to apoptosis?

activation of ced-9 pane,

loss of function of CED-3,
loss of function of ced- zene.
Inzs of function of CED-4.

Feo bk

Photosystem Il functions as a light-dependent
water-plastogquinone  oxidoreduciase,  What are
the names of two reaction center proleins that
bind electron transfer prosthetic groups, such as
Pi&0, pheophytin and plastoquinone?

1. CP43 and CP47 2
3 33 LkDaand 23 kDa 4,

1 and 132
Fuand Fp

Plants have evolved with mulliple photo-
receptors, which can perceive specific wave-
length of light. Which one of the fallowing
slatements is correct aboun the phaotoreceptons?

1. Phytochrome A can perceive far red and

blue light.
2. Phytochrame C can pereeive far red lighe.

https://pathfinderacademy.in/
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d4d,

45.

46,

47.

3. Crvplochrome 1 and phytochrome B are
responstble for perceiving Blue light,

4, Phytochrome B can predominantly perceive
far red light,

Which ane of the following statement describes
the process of phloem loading?

1. Triose phosphate is ransposted froa the
chioroplast to cytosol.

2. Sugars arc transported into the sieve
elements and companion cells.

3. Sugars are tmansporied froom produecing cells
i the mesophyll o celis in the vicinity of
the sieve elemenis,

4. Holoes are ransported foom roots o e
shixoats,

Which one of the following combimations of
secondary metabolite biosynihetic pathvvays
result in the brosynihesis of terpenes?

Mevalonte acid and MEP patheerays,
Malonic acid and MEP pathways.
Shikimic acid and Malonic acid patliways.
Shikimie acid and Mevalonie acid
patiwways,

R e

Which one of the following changes will oocur
in the cell membrane of nodal tizsue of heart,
which resulls in an incressed heart rate due lo
stimulation of sympathetic nerves?

1. Opening of sodivm channels is facilitated.

2. Potassium conductance is increased.

d. Opening of L-caletnm channels are
Facilitated,

4. 'h' channels are inhibited.

A person Lakes 10 ml of msulin injection daily
at 8.00 AM. His son gave him 1.5 ml insulin
al 5.00 AM considering the Fater will oo 1w
parly and eat more during - lunch. . The father
alzo avoided breakfast, as he planned o eat
more during lunch, Which one of the following
events will ooour?

1. Father will be nommoglyeemic.

2. Father will be in hypoglycemic condition
before lunch.
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3. Tather will be in hyperglycemic conditon
ketare inch,

4. Blood glucose of father will be low after
taking Iungh,

48, How many genetically different gametes can be

449,

s0.

51.

52,

made by an individual  of  genotype
AaBbecDDEe, assuming they are independently
assorting?

g ST
i B 4. 32
Blutation st two different loct of the same geme

X results in altered functions. These wo
mutated versions of the gene X are callad

allcies.
complementatian groups,
imterrupted penes.

linkage groups.

s 12

A gene encoding tRMA undergoes a mutational
event in g anticodon region that enables it to
recogmize 4 mufant nonsense codon and pernit
completion of translation.  Such a mutation s
known as

silent muttation,
neitral molation,
NONSENEE SUPEressor.,

Bolabd e

Two pure lines of com have mean cob length of
9 and 3 inches, respectively. The polygenes
involved in this tait exhibit additive pene
action. Crossing these two lines 15 expected to

produce a progeny population with mean cob
length (in inches) of:

1. iz4 2.
3. 60 4,

15
275

Which of the following arganism is widely used
as a biocontrol agent in organic farming?

Rhizobium trapicii
Trichoderma vridis
FUgariun axpsporim
MNaslor MESCorn

L ool e
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Aeni, B, CH, D-iv

i ok

A-iv, B-iiy, C-ii, D-i
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53. A paraphyletic group

. contains unrelated organisms.

2. ingledes the most recent comma ancestor
but not all of 1t descendenis.

1. includes all the representatives of a clade
bt not the most recent Common
2ncestor.

4, coalans all the representalives of a clads
and the most Tecent common ancesior.

54. Which of the following is WOT an adaptive

modification in a xerophytic plant?

Slrongly developed sclerenchyma.
Sunken stomyata.

Sparse stomula.

Prescnce af lacunar tissues,

R i e

55, M milk is lefl open, lacioss s fermented first to

produce acid.  This is followed by proteclytic
bacterial acuvity which mereases the pH.
Ulurnately milk fats are degraded o produoce
rancidity., This is an exarmple of

1. ecological sugcession.

2. microbial antapenism.

3. interference competition.
4. micreevalulion.

56. Symbiotic biological nitrogen fixation takes

plage with the association between a plant and &
miropen fixing prokaryote as shown in the
following tahle:

List of plants Nitrogen fiving

A, Soybean (i) Frankia
B. Camarina (1) Bradyrhizobium
. GFuRnera () Anabaea
D Azplla V) Mestoe
The correct combination is:

1. Ad, Beii, Cliii, Deiv
3. AG; B, Gav. Deiii
3. A-ii, Beii, C4, Div
d,  A-iv, Ban, C-u, D-i
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4.

60,

Secondary sewage treatment involves

1. physical remeoval of solids from polluted
water by filtration and sedimentation.
retnoval of chemical remains by precipi-
taninn.

removal of dissolved orgunic compounds by
activated sludge or trickling filter.

remeval of microbial pathogens by chlorina-

hon or oeonizatio,

i
GF
4,
Based on per molecule, which of the following
gas has the most powerful greenhouse effect?

1. .00
3. N0

2.
4.

CH;
CFCs

Sexual selection results in variation in the
reproductive success of males, often due to
fernale choice with particular phenotypes. This
fype of sexual selection occurs hecauwse

1. males cannat compete with othef males.
2. cost of breeding 15 higher for femmles as
comparsd 1o males,

inappropriate mating results in a similar
reduction in fimess of females amd males.
males are a limiting resource for females,

i

Among the following events in the history of
life

a = prokaryotic ool

b — cukaryotic cell

¢~ nateral selection

d = organic molecules

e — self-replicating molecules

which 15 the correct chronological order’!

2.
4.

I} d,¢ ¢80,
3. e,dach

d, e ab.c
doeach

The Hardy-Weinberg principle comes from
considering what happens when Mendelian
genes act in a population. The model predicts
that there will be no change in allele frequencies
when

https://pathfinderacademy.in/
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63

I, magmsation wibe the populadion oo s ata
sbeacdy rade.

2, the populzation suifers 2 batlezneck

3. @ care new moalation s associated with a
shurp increase in fitness.

4, noevolulionary process is at wark,

2. Which of the following 1= responsible for
inttiation of matermal behaviour in the fest-lime
pregnant ralz alles partecition

1. Higher prolactin levels in blood.

2. Bomulation of sensory receptors during
delivery.

3. Changes of uterine valume.

4. Presence of nls mls,

Ter replace animal vse U esing lepals Wity
of a drug on trial, which one of the fallowing
walld be used in vitre to be closest to the i
Wi SCCNArio’?

Liver cells,

Hepatie cell lines.

Liver glices,

C-culivre of iver parenchymal cells and
Eupfer cells.

Bl e ol ==

- Which of the following does not represent a

stoategry for phyloremediation

Phytodegradation,

Phivtoamining,

Continuous removal throwgh livper
accunutlators,

4, Chelate-mediated extraction of pollutants.

e

65. The word “fermentation” is used in bio-

chemtistry and microbial technology to denate
different phenomena. 1 the former is called C
and latter i called T, which of the following
statements is true?

L ANC % T butall Tis nol C.

2. ANT i Chutall CisnotT.

3. Tisalways a product of genetic cnginecring
while C is not,

4. C 15 always an acrobic progess, while T can
he acrobic or anacrobic.

66. Which of the following statements is NOT true

during the infection of plant cells wilh
Agrobacieriim?

S/0T RDMZ—3AH—2B
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67,

69,

ik,

1. The protein products of virelence penes
vird and vir? perceive acetosyTingone.

2. The ¥irE protein forms a conneciion
berween Agrabacieriim and the plant cell
and facilitates T-DNA mansfer into the plant.

3. The T-DNA is excised and bound to VirD2
pratein.

4, The T-DNA, after becoming coated with
VirF binds to phosphorylated VIPL, which,
allows the complex fo enter the plant’s
necleus,

Ameng  existing technologics, which of the
following vectar systems would  you prefer to
use for penerating a library for 140 kb .
sukaryotic gemomic DNA  fragments, while
giving due consideration 1o size as well as
stability of the insert?

Phage
Cosrmid

Bacterial artificial chromosome (BAC)
Y east artificial cliromosome (YAC)

R

. If r denates the correlation coefTicient and m

denotes the slope of regression line, inter-
changing X and Y axes would

change m but not r
change r but not m
change both r and m
nok changs ror m

o b b

The use of biotinylated secondary antibody in
ELISA

1. increases the sensitivity of the assay but

compromises the specificity
2. increases the sensitivity of the assay without
mmpmn'l.isi_ngmc specificiny
3. does not aller either sensitivity or specificity
4. decreases both sensitivity and specificity

Which is the best method lor checking myco-
plasma contamination in a mammalian cell line?

Southem hybridization
ELISA

PCR

Western hybridization

e e
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L " PART C ]

M. r=hh o o & wireieeeer mol & wetvaer @ o 7 s B e slfElerees elesiveaen
U AR ER IR 3EET TS eE A (RN &) /i g £ vk w Al
it vt waflraste wmad SarEtErr & anay o 0 wew § ) PERTYSE SIS o dET-a0 weEAT &
Fremeer oofer @ (% swddt C-Rfler &9 o7 7 e #

— Val — Asp— Asp— Val — Phe - Ser - Gln ~Val — Cys — Thr — Iis — Len — Asp— Thr — Leu -
Lvs,

S W T T e ST o o FE-ET g wear & 7

b v ool e o wed wdl el £ 1 vy il geel
3. =i e st 4. derdaw fiw

7L Phosphorylation of ADF e ATP occors through cnergy  metabolism, comprising oxidative
phosphorylation or substrate-level phosphoryfation or photo-phiospherylation (ine plants). ATP can
alse be Tormed from ADP thoough the action of adenylate kinase. Crystal siructure determination of
adenylate kinase shows thai the C-rerminal region has the sequence

— Val - Asp— Asp — Val - Phe — Ser - Gln -Val - Cys~Thr - His~Leu - Asp - Thr - Leu -
Lys.

What can be a possible conformation of the sequence?

1. A helix that is nol amphipathic 1. Amphipathic helix

3. Leucine zipper helix 4. Beta hairpin,

T2 o 100 o aeel-gar Gmd w sl g @ wew & GRR Sl-wmfie @t o @ ae
i i v ST B w sy o T i aErs we & 1 g gyl @ s o o g &
fFas wer Ty g ¢

A 20 10 1 R 4. $1'=100=3

7. Consider & 51-residue long protein comtaining only 100 bonds about which rotation can cccer. Assume
that 3 orientations per bond are possible. Based on these assumptions, how many conformations will
be possible for this protein?

A 7. o0 3. 3% 4. 51=100%3

T3 e Gl TR s sty o By /[S] Rofle Ve rw e st Qe o & ot o ol
et e ol & g g s B oo @ wE wE e el

Lo TV, 3R - g K., UV Reda 1/ [S) @ e @ @ mw B o we @
2. &T HEL Vo,

3' '|._r:_"" I{-nl W 'i:"?_"?:? ’TT-'F?T

4. w3 K_ve f-ov S
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73 Aplotol V /5] versus V is generated for an ¢nzyme catalyzed reaction, and a straight line is
obtained. Indicate the infonmation that can be obtained frorh the plot.

Vo 200 tumover number K., can be obtained only from a ]:dul of 1/V versus 1/ [3].
- K'Y g from the slope

W oinax, Ko and turnover number,

Omnly K, and tumover number,

-

i

4. Rgw wrw T & B ey sioeey it & ) sywieet F F of o mew o o feme
ST W s @ wey ot o e

isocitrate(6) — - a-ketoghnarate(5) — =3 succinyl CoAld) ;}51u;-;‘ina_l:{4]l —L  fumarate(d)
telt Rufer & miRfrey o5 A—D 77 Frer & o mh—ar mw wet 27

I. NHD _\H‘ﬁh MATTHH 4 H'_HA!’J' _Th ."‘;J".”'E‘. |]'I|f"_|i_;||:' "'\lp G-I--P-.F.‘:".D Al =R F;I”“l

(e 8 0, F
NAD—= NADH + H", NAD"
N

o

--—A.T‘ MAL +H -..r'l'||-|F'_'_-;:' AP, FAD—= " FALI,

oy oy F;
3 N.—'.D'_--‘ﬂ- MADH « HY, FAD" — = FADHN,, ""'DE'_"'“T' ATP, NAD- —=.7 NADH +H'
C0, P, Co;

9. HAH——T- NADH + H, FAD" —w FADH;, GDP——cz= GTP, NnD'———qrMaDHrH*
CO;. P Coy

T4, The following reactions are part of the citnc acid cyele. The numbers in parenthesis indicate the
number of carbon atoms in each molecule,

isocitrate(f) —— a-ketoglutarate(5) —— suceinyl CoA(4) — s succinate(d) —=—s fumarate(4)

Which one of the following sequences of reaction systems A—D is cormect?

= - B - :

I NA“_F_TF MADH+ H, WAD __"T1" MADH +H, EI}P—-—TH- GTR.FAD —= FALH,
EG; G ik Pi

2. NﬂD*——q- NADH + H', NAD' —=" NADH + H', ADP——= ATP, FAD— FADH,
Coky 0y J:‘|

3. NAIJL-.F—— i g - . a — J - = £ !
S MARDH+H", FAD FAI'JHl_:_ AlM o ATE, h.‘LD—--:\ BATHH -+ B
m: !".i CG

4 Napd NADH + H. FAD' — i

D—T FADH GDP__TF GTE, NaD——T-MAL'rH +H'

Ciy F o
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0.1 M wEw-1-wiee (G-6-P) § shobgahygds fam war 8 1 G-6-F = G-1-P a7 25°C @

AP wa s e el ofteds 18 kealfmole & 1 sw seen F G6-P w0 G-1-P & wger
wEE e gt

1. 96 mM, 45 mM 2. 100 mM, 0 mM
3. 45 mb, 96 mh 4. 0O mbd, 100 mdi

Phosphopglucomutase 15 added to 0.1 M glucosc-1-phosphate (G-06-1). The standard free coergy
change ol the reaction, G-0-F == G-1-F 15 1.8 kealfmole at 25°C. The equilibrium concentrations of
G——F and (G-1-P, respectively, are:

1. 9% M, 45 mM 2, 100 mM, 0 mM
3. 45 mM, 96 mM 4, OmM, 100 mM

AHE @ wigEweE @ sy @ i sepler Faiidl anaE ard SEtiEen (T, AH, (T.9% gofs
) A AC, (Rem—sTe mw swmar o) o s g sme Ry R Tmr of arar war A, =
0, Tpo= 75.5°C 3% AN, = 504 keal'male g & 1 59 sgveg & 37°C  ov A=y (Gibbs) 37 ST
Fa weanT et @

I. 255 kealimole 2. 2.6 keal/male
3, 0.6 kealimole 4. 5.4 keal/mole

Differential scanming calormmemmie study of calf thymus DNA was carried out to measure midpoint of
thermal denaturation (1,0, AH,, (enthalphy change at T.) and AC, (constant — pressure heat capacily
change), It has been observed that AC, = Q, T\, = 75.3°C and All, = 50.4 keal/male, The Gibbs froe
encrgy chiange at 3750 a1z

1. 253 kealfmale 2. 2.6 kecalimole

3. Do kealimole 4. 5.6 kealfmole

ydl aegmler (CF) oo—finefty awanr Fass @ide (CFTR) 7% cAMP-ammd Clawr 2l & | waw
e Sl e CETR. st ot &) adf g O avrmer aify o vl & wer O v gaifet
g1 g fmg oaw @ fav CPFTR (oo o ool gier 8 mev @) welat e ovw pied Bl
prpm) & owite swar v v Crd wlfies & Biden—wiew CI# ST fEEy WAy oA
wr-Hile Er # S Fw & CFTR & aRelt-Rem soelt erdfeliam & Ge ommsas e & 0w &
CFTE g & B oidla aaues Rues ey fgdierw & 39 CFTR fGwiw & C1 afiges et &
HEFS =

§H HomEe & TrEtEen F ey e & o wlv ow aeer wet 27

et o siEw @ mem CFTR o aoelalthy 2t anft 2 4
CFTR @&y & OV 3veral @ T 5w &7 gre B o &
el W CFTR gidhy o gfeavl sadfew ahn & )

feeitetal A CFIR @ighs & gwre Fard go e gy &) oawr

e T
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Cystic fibrosis (CF) transmembrane conductance regulator (CFTR) protein is known to be a cAMP-
dependent CI channel. CF patients {with mutant CFTR proteins) show reduced CI” permeability and as
a result exhibit elevated C1 level in sweat, To prove this, CFTR proteins (both wild type and mutant)
are ingerted in 2 model membrane (liposeme) and C1° transport s followed with radicactive CI7, It is
known that topology of CFTR in membrane is very important for its function. Despite no proteolytic
degradation or denaturation of CFTR proteins, wild type CFTR failed to transport 1 in liposome.

Which of the following is the correct explanation of this?

CFTR protein gets mutated during insertion in Hposomes.
CFTR protein loses affinity with C1° ions.

CEFTR protein gets wrongly inscrted in liposomes.

CFTR protein loses channel forming property in liposomes.

B B3

FET ASTIHIEAT # S Swwr @ waters witeie anuTe sy g & g Aol 9y sma
T e @) e wv e ar at o erdvile aveseEeay w@el o FE aen e
Elar # fira gl 7 WY & firedt gt @ fornd awc-gad o e l::l‘-rjr'?;"-;" T e B
#{ 77 gRwwt o 4 wucew of @ § amE @ s (fm F ouiem o o A A e A @
‘;;Wﬁ# sy gt e @ | G e ey aftges it ATE wedw @ aeyga § @EEe S B

HERT ATl E amra % e s (NADH, ATP, ADP, P} &7 aivarss sidT BT &1
s et & var s getagta wRewr @ B Srovard sy s o SEE wli we E

T Al e Get @ e & st avend) gd €
ST HIGETEI Gl FT Gy e T8 # o

T

The respiratory chain is relatively inaccessible to experimental manipulation in intact
mitochondra pon distupting mitochondra with ultrasound, however, it is possible to isolate
functiona! submitochordrial particles, which consist of broken cristae that have resealed inside
out into small closed vesicles. In these vesicles the components that originally faced the
matrix are now exposed to the surrounding medium. This arrangement helps in studying of
electron transport and ATP synthesis becanse:

1. it is difficult to manipulate the concentration of small molecules (NADH, ATF, ADP, Py)
in the matrix of inlact milochondria.

2. in broken cristae, the enzymes and other molecules responsible for electron transport-are
more active, ;

3. intact mitochondna are more unstable than broken cristae.

4. purification of intact mitochondna 1s not possible

teft T e £ A fiveiT @7 sl (WierR) v O ae a el v # R A 9 nm vg
o S nm 5l & &l sy o d2 e spferatlal a1 ARl e &6 umearesd #Ew
e () ® (et st amide 25 P

1. 1121 2. -1/11 3. 10721 4. 11l
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79. Assuming that the histone octamer forms a cylinder 9 nm in diameter and 5 nm in height and that the
hurnan genoe forms 32 million nucleosomes, what fraction (approximately) of the volume of nucleus
(% pun diameter) is occupied by histone octamers?

1. 1721 A i 3.0 10721 4. 1011

Bl ehywe 33342 Bredl-wvmy o ¢ avie 2 @ st g @ oed s o Svar @ aee B
& ut midis il 2 1 3wl # @ s @ e e @ By sewe s G o
Hiv wame witErdl o gad @ ooy S T TEn 21 e st § piadiy # By e
FEr & olew G A @ e W enlur man @ (X Y 09 2 ® ot e mr 8 )

| [ | e— = : =1
EL
)
£ 5 ||I I|I
x f
5 ¥ A 5
| L
E i III I| . L ! F
¥4 I|' 7 l"., |
= " 3 - |

A & & @r-ar ol # 7

I, XisG,YisG+MandZis 5 2. XisG,YisSandZisG+M
3. XisS, YisGo+rMand 2is G, 4 XisS, YVisGandZis Gy +M

80. Hoechst 33342 is 3 membrane-permeant dye thal Quoresces when it binds to DNA through a
intercalating process. If 2 population of cells iz incubated bricf] v with Hoechst dye and sorted in a flow
cvlemeter, the cells display varicus levels of fluorescence in differem phases of cell eveles as shown in
figure below (marked as X, Y and 7).

.
3
S N |
T

PuTEdr T el

Ll =) . L] -

[

radaben Bt i e g m

Which of the following is correce?

1. XiG, YieG:+MandZiss 2. XisG,YisSandZis Gy + M
3 Xis& Yis G+ Mand Z is Gy 4 XisS YieGandZis G, +M
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Sl,f?}a‘.'aﬂm}'a#:m rg ey AT YT @ i 9 79 §id 9O0e ¥ N Ao Sma T
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5
Deawth gt 4
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L +
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7 sl o e 8 F sl-ur oftvry Rrar o wear 27

) I AT A wes alf g

Il o, gl wrme @ ey sngatE B By

giE OrE, iE S & A wy F e Ser L
wm gly ve e g OomE @ w-wy T a e |

b i

81, The scatter plot of growth rate and growth yield for 100 random environmental isolates of
bactena 1s shown below:

Grovess o ey
il -

gty raty m——

Which of the following can be inferred from the data?

The two parameters are not related,

Growth rate is inversely proportional to growth yield.
Growth yield is negatively correlated with growth rate.

High growth rate cannot be accompanied by high growth yield.

F= ik bl

82. ! e s B @ oftwre e & 0 0w o Eivy wvehvr af@ar 4 efiRetet CTP
aifr il CMPe] dNTPs v o=y swses sfienfsl & aien To—0F ovF (FoT=HaT
wivfar el d) anEee § Sawr o dvew avewr #& oov H-smiadh & weevm @ et ag g
it &R oy wwarE g sEv—ser sRET At o dver ey & o g F

Ay & & @l-w o s st w gnfw 2 7
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Rate of CHA
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antilh a5

Ticg —

£

t:r:l:'um-.q

Farlse of OIHS

Feba of GME

Fanlhesis x|
e
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A

Tiriin — | [T JE—

B2, Double stranded DINA replicates in a somi-conscrvative manner. In an in witro DNA synthesis
reaction, dideoxy CTT and dideoxy CMP were individually added in excess (in separate reaction iubes)
in additien w ANTPs and ather necessary reagenis.  Rare of DINA synthesis was measurcd by
incarporatien of “1-thvmidine. The four graphs drawn below represent the rate of DNA synthesis in

o separale regciiogn s,
Whitch ol the fellewing graphs represents the expected data?

LlacIp

-
o

Pl of oy
ERRIEL N
H\S
I
LLUE i
L ]
R ®

Y

\
p

. — L] S

Ua)

BY. sy @) sml-wwrdl! mRgRewr B8 A o avew gy ged £ ol seer el av O @
AT W R G s g @ BeEEen o 4 ) e gl @ i @ By a8 e & i
dhy WA el fer i & mﬁmmwﬂﬁwﬁgﬁfﬂaﬂ? : T

g1 e w e e uw oW w9 § oW Rer ¥ wvlfr shw vmor @ el amew B B
WWTWnﬁWﬁWﬁﬂﬁﬁgﬁﬁﬁﬁafﬁﬁm W @ AEANT R A

BT W F aEEr & 1 O owog B9 8§ O W8 $wet @ weend # 1 29 aiwrene anst

waafr@‘]'?'-rgrawﬁ*aﬁw—?ﬁ'ﬁ#e?mh—rr{mmfa‘m#*ﬁ?#?

g gy

1. dvae giw @ divw s 2, e giwm 1 e Jdvar aade
3, & oo 0o v eew 4, vy v sife ey arha
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In semi-conservative mode of DNA replication, two parental strands unwind and are used for synthesis
of new strands following the rule of complementary base pairing, Synthesis of complementary strands
require that DNA synthesis proceeds in opposite direction, while the double helix is progressively
unwinding and replicating in only one direction. One of the DNA strands s continuously synthesized
mn the same direction as the advancing replication fork and is ‘called leading steand whereas the other
strand is synthesized discontinuously in segments and is referred o as Japging strand, These short
fragments made discontinuously are labeled as Okazaki fragments. These Okazaki fragments need to
be matured inta contmuous DN A strand by which ene of the following combination of enzymes?

1. DNA Pol [T and DNA ligese, 2. DNA Pol [ and DNA ligase.
5. DNA Pol I and DNA ligase, . 4. DNA gyrase and DNA ligase,

e e e L et e e M e Ll o el e e e

T Y el i s e el Y e i v R R T

T AT E O e gl sermdl-arges e @ Brardlte = BuSa wwlt oodw woE

3y fAer #?F e = ey M e e v ST gEE O FUT _:'??'f_']‘??—?}-:—'ﬁ"_"" WO e fomir
Toa EEe e

OO 1 e b T e o i G 1 ol 2. ST GV ST |
3. dhra ver wdereiemr ST | _ 4, mdfoe ofivelt s s

- A reporter ool line with stably integrated retroviral promoter-luciferase caonstruel was transfected with

an expression vector for a cellular protein. The protein seems to regulate the activation of the retroviral
promaoter as analyzed by eciferase activity assay. Which one of the following techniques will you use
to show “in vive" recrutiment of the cellular protein on the integrated retroviral promoter?

1. Electrophareiic mobility shift assay. 2. RNAse protection assay,

3, DNAse hypersensitivity assay. 4. Chromatin immunoprecipitation assay.

Ui HERET ® moreaney (AR mRMA F geemm AU ag@E @ eld # s mRNAS o wrmdt
ailféiat (e @ e wea ([ G agwem RNAs it 0idla weeve @ e smrra wft
I GO o | TE R gy Fr gt e @ Ry Al g g @) snevaear qe el IE'FF# 4
o [ geTsst @ wEehrr @) el wengm &7

l. w7 v verms uf pewarT s s SEE W O Bt 8 g

2. W UerEa @ S s A @ pent s o a e )

3. A v dergs wt AT it st @ g arme o wm o §

4. & srEn-amn degs e BoE seR 5E UE st sre @ aer sor 8

A synthetically prepared mRNA cortains repetitive AU sequences. The mRNA was incubated with

mammalian cell extract which contiins ribosomes, tRNAs and all the faclors required for protein
synthesis,  Assuming ne initiation codon is required for protein synthesis, which of the fulinwmg.
peptides will most likely be synthesized?

A single peptide composed of the same amino acid scquence.

A single peptide with alternating sequence of two aming acids.

A single peptide with altemating sequence of three amino acids.

Three different peplides each sequence composed of a single amino acid.

b ot B —
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Bb. During cetl evele regulation in cukaryoles, there are post-translations] modifications of protein fagctors,

wiieh act ag swilches [or different phases of cell cyele. A cell population of veast was transfeeted with
Assuming thal the transfection elliciency was 5074
unly. which ol the tollwing graphical representation of the results 15 most appropriate?

gone dor Weel kimase (modifies Cde2 promein)
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87, fialad W lae Al @y Foww 26 lee Soww ol smmdht ofawr piEE CAP 2w 2@ 8 4 lar

WY @ R T Y T U W whr A S e ane o -

(A)
(B)
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(C) CAP, RNA oidfimie o amgl Bar ag=r &var 2
OV Al dey @ amnv gv B of v F-my witemr weieE wet 2 7

V. gl oife ol obet & Ao &2 ey o geem B A Saeta wEr
3. S sgalten § 4, iT auRn & siv seehw guRun

87, The lac operon in E: cofi, is controlled by both the /ec repressor and the catabolite activation protein

CAP. In an @ vivo experiment with lac operon, the following observations were made:
(A} eAMP levels are high.

(1) Bepressor 1s bound with_allolactose.

(<) CAP is interacting with RNA polymerase.

Which one of the follewing conelusions is most appropriate based on the above observations?

1. Glucose and lactosc are present. 2. Glucose is present and laciose is absent.

3. Bothare absent, 4. Glucose is absent and lactose is present.

88. Joril s @ G s @ ane v B ot o e 0l wen F e 9w T g

88,

89

Frits it st 8 59 1 o e etwhEl v geeiiil av o mret BT anaeey
= fey avaiT &% @@ £ | 59 9 v Sle-wamdl 2 (TLR2) # o ey = st
1L Y e e ) v T e o e e SR B
S greaioral & fr i 8 S seEr g e e o s v #
arverl gl 7

. Fre) wichevia-Radever sl p-feoge wigeal-2ew2s (3-MCD) |
2. arar pH #t aee e R st |

3. P-MCD vF amlaew sehgs @=F 8

4. FRETLR2 windz

Upon ligand hinding, cell surface receptors move laterally to be capped and internalized, Leishrania,
4 protozoan parasite, can use several receptors on macrophages to gel internalized. Ome of them is
Toll-like receptor 2 (TLR2) that binds lipophosphoplycan on Leishmania. Onee intermalized, the
parasite is destroved in the phagolysosome. Which of the following treatments of Leishmania-infected
macrophages will result in lowest parasite number in macrophages?

L. membrane cholesterol-depleting drug, B-methy! cyelodexirin (B-MCD).
2. ammonium chloride that increases lvsosomnal pH.

3, both B-MCD and ammoenium chloride.

4, anti-TLRE2 antibody.

AT {7 quren o gowigdne FEN (FSH) & &7 foua Bl & o7 gerraTT w19 g
Bl i & e @ mRNA F ww o Of W o g we £ S g wEr @ et F reedl 2
1 FE e @ s st wrehew & A B 8 @ Sh-w s e w5 7
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1, gyl wEem @ Wiy evd 5 LH Aesy ane Seele R Toure e qvE Wl

1. g el B W Wl Tt SrotediT FET oUEF cAMP g7 # sy agEl F
FSH mRNA B Joarae qgq o7 siee f&ar o wa | :

3. gaohy aldee el ®y Sl =7 TSI fmigy aife aoame &7 g sy wger 4
(T e e :

4, gwoi aifanal & @ LH aifv FSH Aemsy @97 cAMP ST #7 e FHoT |

Level of follicle stimulating hormone (FSH) during infancy and adulthood is the same but
spermatogenesis is seen only during adulthood. mENA levels coding for FSH receptor are also found
10 e the same in lestis of both age groups. Which of the following investigations will clarify this
paradox a little mone? .

I, Culture testicular cells and add LH to see testosierone production.

3 Culture testicular cells and add testosterane to see comparative rise in FSH mRNA from both age
groups, _ _ _

% Culture testicular eells and add FSH to see comparative rise in cAMP production by both age
EPOUPE,

4. Add both LH and FSH to testicular cells and evaluate cAMP producticn.

(et waw & ot e ¥ ST & FWhET & T s g s ST § S
s # s ek & ) T anet o anfte sl 4 O v M §

(A) a= wh s @ wfier Suvw OO o § W v el @ oRes ogel F o]
FiE @ TR Al @ wied § o

(B} 2wty oo Sw-ewidt fave o sk # o o= wifer @ opREw o o
T HENE e o

() siverer wigam el gors—fafd & F o e wihE ® g f e W few sl W
TR TR @ £

(D) g S0 o6 smwe wigl € @ @ Fivw @ A9 # e w ey el

(B} eiewwm ot ofmr-amrst flems o8 g6 § o f7 ey @ mamw oy oW
AT FE W a0

audan @ s O e @ R @ shew wm oo al g

I (A) @ (B) - 2. (A) E(C)
3. (C)w=(l) 4. (D) (E)

In a tissue, cells are bound together by physical attachment between cell to cell or between cell to
extracellular matrix. Following are some of the characteristics of egll junctions:

(A) Adhcrens junctions are cell-celk anchoring junctions connecting actin filament in one cell with
that in the next cell. g

(B} Desmosomes are cell-matrix anchoring junctions connecting actin filament in one cell to
extracellular matrix. '

{C) Gap junctions are channcl forming junctions allowing passage of small water soluble
molecules from cell to eell.

([} Tight junctions are occluding junctions, which seal gap between two cells.
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(E) Hemidesmosomes are cell-matrix anchoring junctions connecting intermediate Glament in ane
cell to extracellular matrix.

Which of the following combinatien of statements is NOT correct?

1. (A)and (B) 2. (A)and (C)
3, (C)and (D) - 4. (D) and (E)

dmElia v o wWemw W WA & Pew—gaw ol wrenh £ aw B ) FxTEH avEe
FIERl ¥ fAE g Fee—ane ol # dvaw s mRNA T T seite s o
A & A geEs @y @ o o' | 5T T B A A d shew s st
Freetty g s g v Aol ser v o Wenw oty @) vw @ T g

1. oW woaldl gl 31 Fr @ geah sitendT 21 afstiet we E el 00 o qeat @
Frafer fort et sfe HWewr ot Rume q6F g

2. O Wl gt a A o el st aite sfs we W # al—aiemg w8

3. et wereEr g T Fafr e g stehts i deme ol @ af-afeie e F

4. syt @ Frfor S armelt siERAE A st W o 2 8 Bers a5 F

Oncogenes and tumor suppressor genes are termed as cancer-critical genes.  Increasingly powerfil
tools are mow available for systematically searching the DNA or mENAs of cancer cells for either
significant mutations or altered expression. To identify independently an ONCORENe OF A fumor
supressor gene, which of the following would be the most COMVINCing tesls to use?

1. - Transgenic mice that overexpress the candidate oncogene and  knockoul mice that lack
candidate tumor suppressor gene.

2. Transgenic mice that overexpress the candidate tumor suppressor gene and knockout mice that
lack candidate oncopene. '

3. Transgenic mice that overexpress the candidate oncogene and tumer SMpPPICSsor gene.

4. Knockout mice that lack the candidate oncogene and tumor SUPPIEssor gene.

T BT Shr @ T R g ver) BE 8 s maw e BT A @ ewe
3-8 mﬁ#mma‘mﬁwﬂwmﬁw;ﬁ'eﬁmaﬁwfww}?mﬁaﬁw#
TerE-Aiee gfiffsl ¥ omEe & oRT www oww | s @ By e oatn @ oww d
aireilesl @t avabr dved aeeT @ By St gifere oF e # R B aar | oS o
@ v (3T e @ SvalT wvd gv o deed wiRET amwa ver | g o 9 WEE e F
T B Hwar # 7 '

yETgE- AR ghE e avardt &

derra—fane wRifel wr amre & 7€ gar vl weetvr o gem @t vl of
e afifsl wT aweT & 98 gar w4 B eid-wawe © g T
Verss—farne ol Hiafer g B vemer w8 ey e :

_-Ih-'LthJl—-

A large protein of a pathogenic bacterium has been enzymatically dipested to generate a mixture of
peptides ranging in size from 3 to & amino acids in length. Peptide mixtures were then administered in
experimental animals to generate peptide-specific antibodies. In order to develop diagnostics for the
bactenia, the antisera were used for Western blotting to detect bacterial antigen. Western blotting failed
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despite the use of @ wide range of antisera concentrations, What is the most probable cause of the
probicm?

Peptide-specific antibody mixture is unstable.

Peplide-specific antibodies were not generated a5 adjuvant was not administered.
Peptide-specific antibodies were nol generated as they were not coupled to a protein carrier,
Peplide-specific antibodies could not recogmize the bacterial antigen.

SR S

vE g W e Rmide e (TNP-LPS) s =ear 7ar s goa Aei g w
TNP-aiEa e aaaels (TNP-KLHD) =7 ¢ o7 wome & ovow §9 99l # ar R rar v
sl gy wWdeial B B wimt s T St ¥ pwfte BT T TMP- LPS -srafia gl
# B Ffrest o TNP-LPS-a=mr TNP-KLH-a%fT oal #t T sl ¢ arr sv—washr G
mar ¢ geh weEe TNPKLI avefiy gaet o1 B aWimed @ TNP-LPS- sy THP-KLH-swafi qvel
# T s ¢ wy we-wai B T 0 oW pER B TN W we g

(A H:I-,,:|--L:|=5 " .[_-r.'«.'%--l.m-s_ (B) BTr-fl‘-[.Fﬁ ¥ T'IN?;KI H_
(Cy . B ITRRR g pTHLE i THIKLI , TTNE-KLE

77 wE—wEEr F e SEw 1pG e sy weT wen £ 7
I, (A ¥ 2. By A S (R 4. (M#

A mouse was primed with trinitrophenyl-lipopolysaccharide (TNP-LPS) whereas another mouse was
primed with TNP-Kevhole limpet hemocyanin (TNP-ELH). After three weeks, these mice were
sacrificed and splenic cells were ractionated to B cells and T cells. B cells from TNP-LPS primed
mice were co-cultured with T eells from THWP-LPS- or TNP-ELH-primed mice. Similacly, B cells
from THNP-KLH primed miee were co-cultured with the T cells from TNP-LPS- or TNP-KLH-primed

 mice. So, we have four co-cultures:

(A3 BITLEE LS (B RTHILPE o TTHP-KLH
I:':--:I H'l:""?"r::.ll i TI w15 {D} B'l':‘ill:'"hl.” W 'I"'E":F'Kl-“

Among these co-cultures, where do vou expect the highest 1gG production?

1. LA) 2. (B 3. (©) 4. (D}

94, Sl o e weemat & Bl o paxs o # Gy ey oittenal @ s 8wl §

(AY Paxd =fte gtwr o wg awm # S o0 &7 Amiw s dver #

(B) Aty gt fee 2 amred @ Al amr & e o A wanaf @ Frafr # @ Paxeat
avitatr & wrer gyEito wv we § o E e

(C)  Paxt v @ ggas & 790 giowr o g0 Tew &Y B FW EW E

(D) = giewr & s0f M ot smed BMP4 ©F FGFE g o ol &) sed! & e @
v 2 Paxt s S8 #

T A o dt-w e el § 7

1. (A) @ (D) 2, Q) (D)

I (Byed (C) 4, = (C)
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84. The functionality of the paxd gene in the formation of optic and nasal structures may be
attributed to the following:

(A) Paxt makes the optic vesicle competent and allows lens formation.

(B} The optic vesicle can induce any part of the head ectoderm to form the nasal and oplic
structures, dua o the presence of Paxo. '

(C} Paxé renders the head ectoderm compétent to receive signals from the optic vesicle.

(D) Apart from the optic vesicle, the head ectoderm may also be induced by BMP4 and
FGFE, 50 Pax6 is not exclusive for lens formation.

Which of the above altritnitions are true?

1. (A)and (D} . 2. {C)and (D) 3. (B)and (C) 4. (C)only

95, v@ W A goT qw @ dEgEe @ Sen 5 et B 08wy v wa Gt augeer sy v
Hew e & | g A agl gar Je&!&ﬁmgﬁ@#&fﬁ@?ﬂ##?ﬁmmﬂaéﬁqﬂ%
THE @ YT 4 v W O A% THadt 5 T | 4y s nit & 6 ;

HeEra! st A s B @ @ Gy @ ot e o et s #
Hewm T UH GlaverEl sreEr s o e ae § o g @ S F werar e £
ate 5 foermrT araly gy @ PR s e gt F werar e 8
e s A R Aoy T @ wre G B w5 e By aibe #w aa

R

95. In an experiment, sperm removed from epididymis of a male mouse was added in a dish containing
appropriate media and cocyte. No fertilization was seen. However, when sperm from epididymis were
directly placed in uterus of an ovulated female, she became pregnant. These observations suggest that:

L. the sperm needs to travel some distance to attain fertilizing ability.

2. the oocyte secretes some biochemicals or factors which help sperm to fertilize.

3. the hormones in body help sperm to attain fertilizing ability.

4. the contents of female reproductive tract interact with speem and activate it for fertilization.

96. =T FAFE vy @ wrd § fe sww renEe By e §

(A) o oF areredlly st & oy gt & o : :

(B) e awly ooy ooiw i Bereaiae o oof areet @ e @ e o e 2
(C) w7 7w 5 et ot g # |

(D) @&l aife geiel & fepm i frreaitos w6 demere sl g el aier st # 0

e A W - ey wet &

1. (A)ew (B) ] . (Byw (D)
3. (AL{B)w (D) 4. (C) e (D)
H
. S/07 RDI12—3 AH—3A
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96. The following statements have been proposed for plant vegetative development:

a7,

98.

(A) Lateral roots develop from epidermal cells.

(B} Shoot axillary meristem develops from shoot apical meristem during differentiation of
leaf primordia.

() Root cap is made up of dead cells.

(D) Lateral meristems and cylindrical meristems found in roots and shoots result in
secondary growlh.

Which of the abowve statements are trus!

1. [(A)and{B) 2. (B)and (D)
3. (A), (B) and (D) 4. {C)and (D)
st o & ymiE e @ R TR @ g gl 7e el e

(A) EfEme § few dow ods &) a7 ol Bavy |
(B) &% ¥ # 3§ Fvw o vl o & o o gae Bk @ sy et waidr awt £

W BN ey o § wl-wy we g E P

i daw) aig—ardt wrfrl o gl Bee s @
waenE dine) sg-gnd atal & guhidly Bew gar &
#5 oe! de-urd snfial & quivd) ResT B 8
wIRE i SE-ww T o st fee s #

R e S

The pattern of embryonic cleavage specific to a species is determined by two major parameters.

(A)  The amount and distribution of yolk protein within the cytoplasm.

(B The factors in the epg eytoplasm that influgnce the angle of mitotic spindles and the timing of its
formation. '

Which of the following statements is true?

1. Specics having ftelolecithal ceg follow a holoblastic cleavage.

2. Species having 1solecithal egg follow 2 holoblastic cleavage.

3. Species having centrolecithal egg follow a holoblastic cleavage,

4. Species having isolecithal epg follow a meroblastic cleavage,

) FEET ar FAF & g ay ey ov o # o A ot ofier @ gt @ eenl
aers & v ounrd av off g wwieET St oo TE o 0E gw Rfehser ey & e o
gl agl swiear |

eayant el & s ov I8 3w T a7 S § I e oifte @ sk

(A} Fawaerlt ofimls & o wmrg ower & 5 gt &
(B)  Fmrrerft ol F gae s greer @ sifte sRft &

S5/07 RDM2—3 AH—3B
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(C) ok aftefs o go e mwar @ o gt &
(D)  =ioler ol F wa gy oreer o sias gl 8

0 o s I e e o i
I (B) @ (C) w2 (A)FED) 3. (A) @ (C) - 4 (B) @ (D)

The fate of a cell or a tissue is “specified” when it 15 capable of differentiating autonomously
on being placed in a neutral environment with respect to the developmental pathway. An
embryo will show a developmental paltern based on ils Lype of specification:

Based on the above facts it can be said that the potency of acell is:

(A) equal to its normal fate in regulative development.
(B) greater than its normal fate in regulative development.
(C)  equal to its normal fate in mosaic development.

(ID) greater than its normal fate in mosaic development,

Which of the above statements are true?
1. (B)and (C) 2. (A)and(D) 3. (A)and(C) 4 (B)and(D)
v T & @t Aeew—geed aid o T @ ww A A meii @ el weem @ T

(A) =it ¥ amrerdf wew (AER) 37 ofmfT o fell oy & s wey o ooy ot geeer &
Tl @ ! @7 et afmly v o 2

(B) =% wrw malms & @ @ o o wpree wew @ e v Gy i o) goey 999 ST TEE
T F R o o wier F

(C) =% wf & ferm o g 9v v ARTTT WEEH] wew @ st e [Bar g gl s &
g s weay gt &

(DY o2 g e & o & g o sloet wew @ A9 o o G Ao ove g
ey A @ R ve oftafla 2 F o

g @ifer & v el gainl o @ sle-9 s oftemfs @ my Wi matost sEw (AER) s o
U Elow, @ Fow [wed At fud & # dfe 2R ot e ovee Bt o awivt 7

1. #=.(A) 79 (B) ' 2. 7 (B) @ (C)

3. #=2(C) 9 (D) 4. (A)(B) ¥ (C)

In the context of the proximal-distal growth and differentiation of a tetrapod limb following
experiments were visualized:

(A) 1f the apical ectodermal ridge (AER) is removed at any time during the limb
development, further development of distal limb skeletal clements ceases.

{B) If leg mesenchyme 15 placed directly beneath the wing AER, distal hindlimb structures
develop at the end of the limb. ' '
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("1 1f an extra AER i3 grafted onto an existing limb bud, supemumerary structures are
formed nsually at the distal end of the hmb. :

(177 If leg mesenchyme is placed directly beneath the wing AER, proximal hindlimb
siruciures develop at the end of the limb.

Which of the above cxperiments would show the possible interactions between the AER and
i Hiimd bud mesenchyme directly beneath it during limb development?

1. {A)and (B) only 2. (B)amd (C) enly

3. (C)and (D) only _ 4. (A}, (B)and (C)

E T T AT @ wEe af-ates ofal # Rt @ wef § ge w49 R
i

(A) PSH afeer g aoiarmret oo Reer glar &

By  ATPREwe e PSI o Mty velomsl o Rewr gl £

(Cy  PSI siTPSI ow g @ Pee Wwi geiles g Bee 89 &
(D} Cyt b6/ oiew 7 reil-aiaiT oice 7ef & 1

uyar sem @ wh- A Ry o weley wE E
1. (A) o7 (B) 2. () (D) 3. (Byurd (D) 4. (B) 77 (C)

Fallowing are soms facts regarding localization of photosyathelic supramolecular complexes on plastid
larnellae:

{A)  PSIIis preferentially located on pranel lamellae.

(B}  ATP svnihase and PS! are preferentially located on stromal lamelloe.
() PS1and PSEH zre located adjzcent to each other on stromal lamellae.
(13 Cyt bé/f complex is not 2 membrane-bound complex.

Which one of the Tollowing combinations of the above statements is true?

1. {A) and_ {8} 2. (Cland (D) 3. (B)and (I} - 4. (B)and(C)

v wETE @ wTET § g vl #7 S Swi aewn & ow el g 8 e gt ool
Ul Ay e W A w8

el gy @ et ey @1 &l @ wT e &

AT # a8 afe By aviE ar S eefir v & w9 B # L
F—IETRT mo ST oaifonT sy waf & SwT o & v a2

Bl 1

Upon absorption of a photon, a chlorophyll molecule gets converted to its excited state when
the energy of the photon is

1. - more than that of the gmlj_nd state of the pigment molecule.
2. equal to that of the pigment molecule's excited state.
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3. more than that of the ground state but less than that of the excited state of the prgment
muolecule,
4, equal to the eneroy gap between ground state encrgy and the excited state encrpy.

UfeRfiE arT (ABA) @ gyl ov grews sifv et sl mial @ Wed o g ey A Br v &

(AY  ABA vl o wag &y & gof oiehn @t sorener o &

(B)  ABA e o ol ov meke 9% ® @ smwieT FwaT Sl el wr gle w0 (o ST E
(C)  ABA [Sradfom-ggdiia Pass SoweyT & Gerad sl & [

(D) &t o gl ABA 3t Rrandfam @ e s Aofam it &

FUGTT T F S A9 ey Wt ae # 7

L. (A, (B) & (C) 2. (B)(C) w7 (D)
3. (A) (BT (D) 4. (A)(C) @ (D)
Following are certain facts about the effect of abscisic acid [ﬁﬂ;’aj on the development and

physiology effect of plants:

{A)  ABA promotes leaf sencscence independent of ethylene.

{B)  ABRA promotes shoot growth and inhibits root growth at low water potentials.
{C)  ABA inhibits gibberellin induced enzyme production.

(D}  Scod dormancy is controlled by the ratio of ABA and gibberellin.

Which one of the following combinations of the above stalements 1s true?

1. (A), (B) znd (C) 2. (B),(C)and (D)
3. (A), (B) and (D) : 4. (A), (C)and (D)

MR HE U9 Hav-are vl @ g # ad et Eeeme)) wiia ffr meET SR g
T E | WEETE @ e g &

1. @ gwrer @ ey | Proad Pie sy & ofveds g7

2. W TN & W T Pr W7 @ g gN 4

3. pe-uldl warE evl ov A Al G- DETEl @ wEE SO R S
4. @ aife gev-TT gErn B - 5w T g |

Red and far-red lights are perecived by plants through varous photoreeeptors including
phytachromes. The activation of phytochrome is caused by:

conversion of Prto Pir form through the effect of red light.
repression of Pr form threugh the effect of  far-red light.

equal proportion of red and far-red lights al same fluence rates.
presence of red and far-red light at different fluence rates.

R
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104, wevf w B sl sfivel @ e mt @ arTEe e aee e manl 7 ow {q&w)

W v it Fee i awee e e 0B W."d’ o B st s e
&7 W ey Bt e 7

1. e ot ol maemn aitv e 2. O T T S
3, Rl sravmr aifv wer @t it 4. ffeee gaeliaT aitv soeraT

104, While studying the primary effcets of different abiotic stresses on plants, a rescarcher observed

106,

water potential {.;aﬁ] reduction and cellular dehydrations. Which of the fellowing combination

of abiotic stresses may cause the observed offect?

. Water defrcit, salinity and chilling. 2. Salinity, high-temperature and flooding.

3. Freezing, salinity and water deficit. 4. Freezing, chilling and flooding.

. WETEAT aET-arw (PAL) A Sy [ (CHS) gl of s SR ¢ om-m =

wam & A PAL sRCHS & maral & Saof o e ewr By gy @

(A} PAL st CHS @ fav andes s wiSmiady v aesla £
(BY PAL ®Raaddly of o=t srm & oftaile o 3o &
(C)  PAL wfmvaT & p-7oie o 4 afetha ev dar d

(D) p-gFiias-CoA CHS i wown 8 giehle o ar amw 80

Trd Wl ey alv—my g far o guieT gt 7

1. (A) 7 (B) 2. (A) W(C) 3. O@®wW () 4 (B)uE

. Phenylalanine  ammonia-lyase (PAL) and chalcone synthase (CHS) are involved in

biosynthesis of phenolic compounds in plants. Following are some statements regarding the
actions of PAL and CHS:

(A} Substrates for PAL and CHS are phenylalanine and chaleone, respectively,
(B)  PPAL converts phenylalanine to trang-cinnamic acid.

{C)  PAL converts phenylalanine to p-coumenc acid.

(D) p-coumaroyl-Coa is converted to chalcones by CHS .

Which one of the [ollowing combinztions of the above stalements is true?

1. (A)and (B) 20 (A)and {C) I (Band(C) . 4. (B)and (D)

TEE BT A s mave @ Na VK ATPase &7 weww # @ amliEa 2 avar B gw Rl @
TWET FEAT By |

V. W T A s 8 oftebiyml witat e MaT e oles it #v A i
2. wrewa o el wEmsy O anfEaw gewni@er ot Na w oaeT e av Bar )
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RO o e e e e e NP e T
4, e Sl amEr T vieRGred st o Na'w oitaes aftr o e #y

The intestinal abscrption of glucose is impaired by the use of ouabain, an inhibitor of Ma' (K ATPase.
Indicate the correct explanation.

1 The inhibiter has blocked the transport of Na™ [rom intestinal lumen to epithelial cells.

2. The inhibitor has blocked the transport of Na” from epithelial cells to the intestinal lumen.
3. The inhibitor has hlacked Na© ransport from epithelial cells to the interstitial space.

4.  The inhibitor has blocked Na” transport from the interstitial space to epithelial cells.

107. so ohy @lfferal @ gevgr gfdagl § r serer g & sy Wt olidoal ¥ el m’ T

107.

I O G 2 e el T T o e e
:;mﬂ:?farﬂafdsifwagz?ﬁﬁwfa?gﬁwnﬁaﬂam‘aﬂ—rwwm}w 7 e R e
# a v s fAyfla g oot & G B ) arrﬂﬁwwa*ﬂwa—‘aﬁ?ﬁnﬁa’m#

EE e L e ol e

(A)  anffeta wRfRfal § gevart #7 golm T o afaa o v w A et @ o et

(B) ww oft ot v B o A W v over o ot s gemennt @ o oy gewerl @ el @) gee
5 s Hfve AT ey

() uﬁﬂwm‘riﬁwm?aﬁﬁg*wmﬂﬁﬁ?ﬁr?vﬁhﬁ?mcmﬂgﬂdﬁd.ﬁﬁ'ﬁﬁﬁ'
B |

() ﬁ'ﬁlgawmrﬁ?ﬂgwwﬁwaﬂ‘hﬁf?ﬁgmﬂﬂgwr}a

e e L o - o
1. W= (A) 2. wE(B) 3. (B)wE(C) 4. (A) (D)

The stereccilia of auditory hair cells are arranged in rows but the heights of stereocilia are not
the same in all the rows, Though the height of stercocilia is the same within a particular row,
the heights increase in subseguent rows.  When the stereocilia of shorter rows are
mechanically pushed towards the taller rows, the hair cells are depolarized but a push on
opposite dircction hyperpolarizes them. The significance of this graded height of strereocilia
is:

{A) Each row of stereocilia may be displaced independent of other rows in physiological
conditions,

(B) The tip of the taller stereocilia will show greater displacement as compared to shorter
ones when all the rows are moving in the same axis. '

{C) The hair cells will be depolarized or hyperpolarized in different grades when the axis of
displacement is changed.

(D) The taller stereccilia are involved with depolarization and shorter ones are
responsible for hyperpelanzation.

Which one of the following is correct?

1. (A)only 2. (B)only 3. (B)and (C) 4. (A)and (D)
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108. Fzxf & GnRH 99w (06 77 & 973 79) o avg & anl (4 oF 2k afts @) g ow) 8o g
2 | dfem ofe gd-mvvy e (eeoer 2 oof o s ov ) GaRHE @ derstyer wv B wr e v 4 LH
A FSH o7 ww sivand 2 af & ) @ awy F T B gorn 4 wg oo & 3w gt wvr &

(A) gd-orvg g F Epwdehe Wi g #

(B) drw ov GnRH &7 g g snftr ginr & 4

(C) diw weamwen § Retda et &

(D) digy =y & oays @ W amverar F wiew B # )

frer o o wfT-ar wE B 7
L. (A) ¢4 (B) 2. (B)w(C) 3 aw(0) 4. (D)

108, GnRH is secreted during infancy (0-6 months) and puberty enwards (4 vears and above) in monkeys.
However, Lv. injection of GnRH during pre-puberta] period (about 2 years of age) led 1o elevated LH
and F&H in blood compared fo unimeated 2 vears old monkey. This suggests that:

(#) hypothalamus is aetive during pre-pubertal period.,
(B) GnRH action on piturtary is age dependent,

(C)  pituitary matures during adulthood.
(D)  pituitary is active in all the stages of development in monkey.

Which.one of the following is trug?
1. (A) znd (B) 2. (B)and (C) 3. (C)only 4, (D) only

109, ver sk wiftht o ofea wr & 1 ow @ gl Sy 3 o waw ol sy = oo i a3t
T A | T wEE & gund wh T g ¥ Rl o Sgey 7w @ Benf A # st

e e ol e 9 Ruft & ﬂﬁgﬁﬂﬁﬁg&ﬂ;a}‘ﬁf#ma#mrﬁm?ﬂn?m
amFﬁmahmwﬁfﬂahﬁfﬂr*ﬁwmﬂﬁaﬁF?ﬁﬁﬁﬁ’g?.ﬁﬁﬂ

{A) Hemte fomggiforra (B) ¥k Rewdw
{C) WeE T (D)  eeiw ek

Frer ot als—sr ot @ 7
LooAma) 2. w(B) .B) W () 4 (O)w (D)

109. A person has been suffering from night blindness. On consuliation, the doctor advised the person to eat
carrots andfor cod fish eil. After some time having seen no improvement, the doctor gave the person
Vitamin A injection. Still no marked improvement was seen. The doctor mooted several suggestions

mdicating lack of the following eneymes for the failure of treatment:

(A) Retinol dehyvdrogenase (B) - Retinal reductase
() Retinal izomeraze (D)  Retinal synthase

Which one of the following is correct?

I {A)only 2. (B)only 3 (B)and (C) 4. {C)and (D)
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110. evieliowiiing o @0 & @ wr § agelgs & swg o= we #w & | e SR
e R A ool e o e i L T O o 2 o s 3 e 0
v iy e Y GO TR

(A) =miee wedlve gele (TSH). (B) wmwige sgdvs (TSI
(C)  wmwigiliw saataar sl (TRH). (DY dvremsiys sl (PTH).

e wrm H ol angeleiidee vy & v B o o Sl avert & 7
I (A 2. wE(B) 3. (A Q) 4 (C) e (D)

110. A person suffering from thyeotoxicosis has extremely high level of thyrotd hormone in blood. There is
a falure ol feed back regulation in hypothalamic-pituitary-thyroid axis. The detailed blood
investigation exhibited high level of the following:

(A) Thyroid stimulating hormone (TSH).

(B) Thyroid stimulating immunoglobulin (TSI).
(C) Thyrotropin releasing hormone {TRII.

([} Parathyroid honmone (FTH),

In your opinion, which one of the following is the reasen for such thyrotoxicosis?

1. {A)only 2. {B].un]}' s {A) and (C) 4, (C)and (D)
111, gasmifst sy wamerat @ wof § By § § shi-or suT v a0 & 7
ceTRT TR o e e & awy &
T WH o amiafio smpsf a7 wieass 78 &v gad o

T BT A dfeeran Tt wTeT TeeeT B St & Aaaw awh §
vagrlis o Brerefeor pH o7 il wledes et ov el gmt &

e

111. Which of the following statements regarding aquaporins or water channel is NOT comrect?

Aquaporing are found in both plant and animal membranes,
Aguaponns cannot transport unchanged molecules like NH.
Phosphorylation and calcium concentration regulate aguaporin activity
Activity of aquaporin is regulated by pH and reactive oxygen species.

P

112, w% 7ev # & wa pourd wmda g demt a wever R T o oo T £ F, #a o ger
T Fel B we d wiaas W R Fe wi F ol gd sy gwe 0: 7 @ agunr F o v g
(g o A et R av

{A) v &t O v & ed B o awftoels e gol S @ T awver F )
(B) 7z gt v wady swagss gaddy & |

(C) 77 v ol wara & o weiEew &

(D) zr B & & tw geEe F )

w5 T e & | wh-n 5l E L
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ara (A) v (C) - 2. %7 (A) W@ (D)
{A) (B} 77 (1) 4, (A)(B) = (C)

112. When two independent pure lines of pea with white flowers arc crossed, the Fy progeny has
purple flowers. The F; progeny obtained from selfing shows both purple and white flower in a
rati of % 7. The following conclusions were made;

113 &

113.

114.

(A)  Two different genes are invelved, mutations in which lead to formation of white flowers.
(B} These two penes show independent assortment.

{C) This is an example of complementary gene action,

{13} This is an cxample of duplicate genes.

Which af the above conclusions are correct?

3,

(1) and {C) only 2. {A)and (D) only
(A) {B) and (D) 4. {A)(B) and (T}
sedymer g ardl) ve wlfar O wre ol alhenad e g st & S o g ar e &

gt el ey ey Eler & wE

e e

ATH Wa SRR fATE @ W Slaer # SR |

A [l A IO WA S & aw |

e ol P T e e e R e R e e

g e ol ot 8 ekl Bt @ wr afelaT @ aT

A cell undereoing meiosis produces four davehter n:-::]ls, two of which are ancuploids, while
two arc haploid. This can occur due to:

LR

F
-8

nan-disjunction during first meiotic division only,
non-thisjunction during second meiotic division only.

non- disjunction during either first or second maeiotic divisions,
non-disjunction during boeth first and second meiotic divisions.

aterd @ ofls od wwRaifel & B B omer fred et i o A AR ) s By

gr m@E ¢ B Al A @) slfde-wedye oy @ dife B, C ol D weag & ol @ Pl e @
T g aearehial oA A & DA W to—Tw wEgeT S 5T 90 T | AT e ol At W
& gl war B 1

| Mutant Medium supplemented with compound
A B = D
L + { 1] 158
2 s 0 1] +
3 3 0 + o
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‘gl Twha E AR ‘i}’.gﬁ'ﬁﬁw :
Fre o 7w (el A T8 e avew ol amer &7

1. B=C—=D-+A 2. C=D=B—A
3. B=D—CoA 4, A=C—D-B

114. Three E. coli mutants arc isolated which require compound ‘A’ for their growth. The

115.

compounds B, C and D are known 1o be involved in the biosynthetic pathway to A. In order 1o
determine the pathway, the mutants were grown in a medium supplemented with ONE OF
THE COMPOUNDS, A TO D. The results obtained are summarized below:

Mutant Medium supplemented with
compound
A =B |ig D
1 T ] I 0
Ertar L s S 0 0 b
[ e [ O S | S

“+7 indicates growth; ‘07 indicates lack of growth
Which of the fallowing equations represents the biosynthetic pathway of A?

L. B=C=aD—A 2 C=D—=aB=A
3 B—D-—aC—A F- R L ey 1Y

ek ) e e e

(A} X- @EerT s (B) X- wmer marl!
Oy sl st (D} et oo

o jar o t.a:i'-.f---%ﬂ et r:'”?.ﬁ T At TETE @ ey @ e 8
B O

“ s oe

@ O

1 (A) @ (©) 2. B@E) 3 O (D) 4, = (D)
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115, Following are four modes of inheritance
(A) M- hnked recessive {B) X- linked dominant
(1 Autosomal rocessive (I Autosomal dominant

Which ol the zbove modes of inheritance can explain the pedigree shown below?

@O
O e
e O

I, (Ayand(C) 2. (B) and {C) 3 (Crand (D) 4. (Domly

&

V16, Fadery o &i st B9F A (met i thr " lew” thi') 3T B (et " bio" dhe” lew thi) @18 @2t 7%
v v el APy 5 AT e T 3 av gael ~ 10° sl el s g of Gifee G
cil seferechll | o 107 @ aresrr o @y G S AT F argale qealaT @t s s et @
geiead @t wwer gay gt ¢ FE BN BB P o @ ate—ar o gem ol @ e @ gl

OVE WHIST T gy ¢ :

I, A @il B el & dld-oe sy seam oy whfew v

2, ﬁ#‘?lifmh:}'aﬂ"mraﬂwa?:m e @ v oeovarT wyef s v g v )

300 A @B Rt @ smm-amT 18 9 i v ivd e e F 9 g o e e
HEER 9Y e s |

4. s wdwedftet @ vE aew W wemw § 18 52 G g% T S aoE 5 S e O

=HET e )

116. The auxotrophic strains of £, coli : A (met bio” the " leu’ thi”) and B (mer * bio* r.?z few thi)
were incubated together for 18 hours in a liquid complete medium and then ~ 10° cells were
plated on @ minimal medium. Prototrophs were observed at a frequency of 1 % 107 cells. This
may have happened by a process of genetic recombination between the two strains or by
mutation of the straing, Which of the following control experiments would help rule out the
passibility of mutation?

1. Plating strains A and B directly on minimal medium.
Growing the mixture of strains A and B for 18 hours and then plating on complete
medium.

3. Growing strains A and B individually in a liquid mmp]n:ie medium for 18 howrs and then
plating them on a minimal medium,

4. Growing the obtained prototrophs in 2 liguid complete medium for 18 hours and then
plating them on a minimal mediem.
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T HIEE HT # Ueea SEneT Ui 8F g ser—wa aofted] swment o geary & w
WF 5 geeanal F agurher g awer Gy Y. @ U7 T fE peny ot g it sl e &

- ariva] gl @ of v dor & At 2l sy gvew aE ol TE o ET wifeT R aE aw avee]

FIFH [T e YR o WeE F 7

l. = 2oy oY 3. = 4. W

Four different mutant lines showing similar phenotype were identified from a genetic screen.
When genetic crosses among these mutants were carmied out, the first mutant was found to
complement the second, third and fourth mutant lines. However, no other complamentation was

observed. How many complementation groups do the four mutant lines belong ta ?

1.. “QOne 2. Two 3. Three 4.  Four

118, v ol wrreear wrerell Gy meer swfdh 2

(&) o 10 757 ammr 3 difear & oo @ T A = W% T Ee

(B) «ifers oo GBaver mom s < 100 km® s afimeer a0 < 10 km'

(C) oy aree & 50 # o afaw dig 7

(D) a= Refdr & Bates @t sy sma 10 ol srvr 3 gl o o w @ 500 #

¥ @t # UCN FIT TR ey anoal & aftever (e 3,10 @ G sl & v Gy 7

1. &wemsr 2. angelEnT
1.  Fnw geeTe 4. I ameen # e

118. A species has the following population characteristics:

(A}  Reduction in population size = 90% over the last 10 years or 3 generations

(B)  Geographic range: Extent of occurrence; < 100 km® and Arca of occupancy : < 10 km?

{C)  Population size less than 50 matured individuals

(I}  Probability of extinction in the wild 15 at least 50% within the next 10 years or 3
generations '

To which of the following ealegories the species will be assigned according to [UCN
categonzation of threatened species (version 3.1)7

1. Endangered 2, Vulnerable
3. Critically endangered 4, Extinct in the wild

119, sww & w¥edt ol # Bere T7it-agg & yeuel & @evw Ge § o e ofwer s wee S

TEETT WY ¥ THET o g £ 7

1. #ERE faeT e 2. e A R
3. Rurmd ey g 4, Fivhiae ae giveeT
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Which of the following hypaothesis best explains the occurrence of Himalayan floral elements in Westem
Ghats of India?

l.  Continental drift theory 2. Dcccan trap thoory

3. Himalayan placiation theory 4. Coromandel coast hypothesis

7w TR 4 g By 9 saee g aae aw # ga ¥ e e s s @ 7

—
[

A T [ @) F sl w ANy v g¢ W sy @ v e @ e © i
2. lgfaaras @ W g seAn R QST ETWH @ G, Smved (O § GweT © Gowny
ey & [y s s g g wnr #

T TwTE WEAT o S S S w e ad agent aw § fwwr et o s
I TF Gee dea v wwd §

4. e Al § el s gl o gl et @ Grod wevewy st wwE AT @8
& i v oIeine o oiveen 2 aaa 8

Trdt

Why lvsogenic cyele s more beneficial to o virus then Iytic ¢vele under certain circumstances?

L. The lysogenic cycle prevents local extinction of the host while still retaining its infection poténtial.

2. By miegrating with the bacterial chromosomes, the genetic instructions for the virus beeome
refreshed after one or more replication events during binary fission.

3. Lyszogenic infection eycles do not harm their host cells, so they can produce virus particles
indetinitely. :

4. Lysopeny causes more mutations to oceur in the virus, creating more variants upon which natural
selection can operate.

e By v Gy Fa, b il o F gpmrr aMow

A= WFETE | b = GgalfEemT ; ¢ = oo
a = sigelEli~gar | b= gideaw, ¢ « se@lo

a = Fiieasa | h = agwifieal, ¢ = mEeiEtET

a = gl (b= #wF | o = g

R
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121 Identify &, b and ¢ in the figure:

a = mitochondria; b = multicelfularity; ¢ = chloroplast
a = mitochondria; b = chloroplast; ¢ = multicellularty
a = chloroplast; b= multicellularity, ¢ = mitochondria
a = chloroplast; b = nuclews; ¢ = multicellularity

fu e bl o=

122, welead witvl & fer @ wh-g a3 0 wgw @ Rl oy A e (o) @ gl £ 2

1. #oe Ty affe s 2. WF Wy

3. wlww all gy 4.  mF T

122, In which of the following classes of vertebrates there are groups of animals without limbs?

.  Fish, reptiles and mammals 2. Reptiles only

1. Rcptiles and amphibians 4. Amphibians only

123. v WEgT UF o W SRR BT FT el 8 9w Jie

L

L

1. il oueh smseer & 2. fene) amdl seweasl @ )
3. Eer e s # 4. FBeket o ot &
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123, The schemalic section given below of an animal imdicates that the animal is;

. mploblastic, coelomie, inveriebrate. 2

s HrSm T

MheldaTdu’s .

[ p L K-

triploblastic, acoclomic, invertchrate,

1. diploblasie, coelomic, invertehrate. 4. rriploblastic, coelomic, vertebrate.

124, @ e owg ov ¢ T & g o Ravr 9 g v By & sgey ar:

o o Individuals

|
H,UDU”T'

> (el ——

o o of o= & © s G Py o wear 8 7

1. & 7 2 o waiEe & 2, g aef 2wt e walEe @

3. @y v @ Aeew wgfag #

f 4. ary & wr e w58 &

124.  Ata given time, the age class distnbution of a population was as shown n the figure:

e of Iwdlduels

illlng..

4 1 H
gty —

Which of the following can be inferred from the figure?

L. Age class 2 has maximum fecundity. 2. Ageclass 2 has maxirmum survival.

3. Age class distribution is at equilibrium. 4, Apge class distribution is not at equilibrium.

3A
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125, =w @) sgeral @ A & e e v awe waee A 8 S ey dife S0 srfsar w stie
el Ol e e = B -0 e o e e
ol A o 0l o B i B e B vl O P 1

ot Species
Community T B 3 r F
I A 20| 8. 7 5 14
2 B 10 | 10 14 10 10
3 g o [12] 10 ] 3 10
4D ] T T T

125, While studying the diversity of 4 communitics, 5 species and 50 individuals were recorded from each
community. The number of individuals under each species was listed as mentioned in the following
Table. Inwhich of the following communities Piclou’s Evenness Index (e) will be 1 7

| Speoics oy
Community I 7 3 3 :
i M 20 E 7 5 10
2] [ 10| 10 W] 10 10
3. (i 10 12 i0 & [0
4, D 1 1 1 1 iy

126,  iwm giver areelwr sl argen Bwr @ pgw diwEy @ oA er Aeeyel v € o 3 @
Fer & & afa—or watmw wEr £ 7 '

[ Gramw i s s
(A) | 25"F oroms aife 255 ol amehrer i Ftarwy &

(B) | 15° & arwey s 300 @ s i |
(C) | 15" & ameer afiv 100 w68 smeoor eI CECES

———

(D) | 25" # fr sftv 255wt s T e e
. {A)1v, (B, (C)-1, (D)-ii 2. (A, (B, (C)-iv, (D)
3. (A, (B)-i, (C)-iii, (D)-iv 4, (A)-1, (Blv, {{f]-ii, {D)-1i1

126,  Average annual precipitation and temperature are two important determinants of world’s major
biomes. Which of the following combinations is correct?

Temperature and precipitation Biome
{A) | 25°C temperature and 255 em precipilation i | Temperate forest
{B) | 15°C temperature and 300 cm precipitation i | Savannah o _
| (€} | 15"C temperature and 100 cm precipitation il | Temperate rain forest
| (D) | 25°C temperature and 255 cm precipitation iv | Tropical rain forest
L (A)-iv, (B)ii, (C)-, (D) 2. (A, (B, (C)-iv, (D)
3o (AL (B (C)-0 (D)-iv 4. (A, (B)-iv, (C)-i1, (D)-1il
AH
SI07 RDM2—2 AH—4A
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&0
TR WPETH T TAGAE SR GHE e SIS NEEN SR T N ST S U R e e )

m &t w7 ol & o g @ By o v wwed s Brow B

T |
T NIR VIS
A 050 | 0.08

B 0.40 030 |
i 0,50 .20

i D .60 0,20 i

FIE ST UY SO O e o i oY o B ST F

1. A»C>B=2D 2 ARDECEB
3. B=C=D>A 4. DA=B=C

A researcher collected information from four forest areas using a sensor to assess their green
cover. Observed average speclral values for each of the forests are given in the mble below:

B Spectral value
Forest | NIR VIS
A | 050 | 0.08

E_ | 040 | 030

C 0.50 | 0.20

D[ 060 | 020

The forest green cover in the order of highest 1o lowest is

1. A>C>B>D 3. ASDSCSH
3 B=C=DeA 4 D=A=B=(C

et 7 rF Ay & oy v F afee w4 s 3000 @ @ T e o fe ¢
g aigem & Ay AW By v By @ ey ar

L o specles

=

1 23 L e L | =0 I T
no of Iredivkduade is the dwmile

oTE & AT U A § w sy frd wd) g7

&g wiiral 2t g oo T v @ 8 R & )

v Tl s E&faT T 55 ave it § @ nelw @ ettt aferad v ewiar 2

i wet whast o TEeT & ater e &t e v oe Bamre T EaEl @ wewr & wwe g
T A #T w Reer il Rt e s S s el d

da Lo P2 —

5/07 RDM12—3 AH—4B
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128, Buwlogsts randomly sampled about 3000 insects from a newly found island. The distribution of their
abundance in the sample was as in the figure given below.

no. of species

1 23 4T B-1% iEA1 318a mE4
ne. o Indivkduale in fhe sempds

Which of the following can be correctly inferred from the graph?

1. Mamy species have only one individual each on the island,

2. The bar on the extreme right represents a large number of species with very few individuals.,

3. Summation of the heights of all eolumnz will b-r.: exactly equal to the total number of species present
on the island.

4. All species from the island may not be represented in the sample.

129. &lgwr oo aieew @ & anfat & &9 oiisem & dew ¥ -

.f{{'rl.:ﬁN.[Ka_,i‘v,"Nzﬂll_] i
At ; K,
ﬁ—@"ﬂ':[m’ N, = ::rz,N,J
I:l!ln.r K:r

aef N wnfat 1 afe 2 @ e smere e giE 7w At K TR ol e SR e 1 g9 @ g
Hel BRETT T oy, < | 8 sy gh -

1. oic 2 @ wfear arfer | @0 afiesl av G | o evfiegl @ st B S @ ey wee O TE
Hew W @) goral # wp Feew e et &

2. T 2 @ afew R | @ el o onfy | o} miewt o s § O @ anw wevEt v genr
AT W w gl # A e s wed &

3. a1 @) aniwr a2 o i oy mﬂ!ﬂmﬁﬁ#ﬂﬁaﬂﬁmwﬁﬂwm
T TN B g § g A sy st £

4. Tﬁla?aﬁr&mmﬁz T e AR 1 ﬁm%ﬁ#aﬁﬁmﬁﬁ#mﬁmfwmu
T wHE Y gerr & Sy P s s £ 0

129, In Lotka and Voltera's two species competition model :

ﬂﬂiﬁ;l[ Ky =N, 'l?'":ﬁu-] o
:.!'.I' K'!
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di'l,fr : fl,l K .lillir-z T EIE'|N|
a2 i [

Where N represents population size, r growth rate and K maximum carrying capacity for
species 1 and 2. The inter specific competition coefficient a;;< 1 will mean:

| individuals of species 2 have less inhibiling effect on individuals of species 1 than
individuals of species 1 on others of their own species.

T, individuals of species 2 have a greater inhibiting effect on individuals of species 1 than

individuals of species 1 on others of their own-specics.

individuals of species 1 have less inhibiting ¢ffect on individual members of species 2 than

individual of species 2 on others of their own specices.

4. individuals of species 1 have a greater inhibiting effect on individuals of species 2 than
individuals of species 2 on others of their own species.

Ll

13, 2 #ord # loo Slact srfads @ o & Pufre wrey seele & Fwl &1 SR TRy &7 gvgkr &
ey aur ( ge R A w4 v gy @ e a1 oFET wE ae g

. ol @ m aenfmdy @l av v wEd o

2. dwchr # aulir & goft lec W lag” @ 3l o @ gY 4% wrlt & ool o oy av Ae
ot |

3. dae W F gefiad @ o amp o @t gee ¥ wew @ st &

4, lae A7 F gwftad o ev a= ol @ gee & wdw ww et 8

P30, The rates of mutation in £ cofi from lac” to lac’ are determined using a medium containing
lactose, as the only source of energy. The principle of spontaneity of mutations can be said 1o
be violated if:

|. the rate of mutation increases during starvation,

2. in the presence of lactose, the mte of mutation from lac to a'af is increased but overall rate
of mutation 1s not,

3. the raic of mutalion in fac gene is always greater than that in other genes.

4. therate of mutation in fee gene is always less than that in other genes.

131, oot o wfiset @ agar Bl o e ges offeres o Bl F afel @ e R o oY
wazH} gyl & gew Regaesqd Eaifes o oy § 99 & relfiniy @l @ e e
fadt & 7EF £ g @ afieiel wr s e av g9 5w Fra e ggeR fF pemr et W aaee
TR sEieT gU v qiw ol @ o foaerd
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Milban e BRd

ST TG Ear (G & i F R 7y £) see B R 5 a8 T w7

(A)  Ferwie sfeny e segge o oftarm afem o & 5% |

(B) et @ swaell ev—v—om o g/ g [SaET o@ gl wrll &

(C) ST et onredlt @1 wry antrenw Ay @ 3T @ Tl F

(D) ohares i g oF s e oy o s e wmd '

(E)  favael sitv oy woit vercft wowl & Reem wr—o—8 19 siwiae o E-wer BT ar |

ey gl A 8 wl—ar wE # 7

1. (&), (B), (C); (E) 2. (B), (D) (E)
3. (A) (B), (D) (E) 4. (B),(C),(E)

According to fossil records, the earliest fossils of liverworts are found in the late Devonian, of mosses
in the early Cretaceous, and vascular plants in the late Silurian/carly Devonan. dnthoceros {homworts)
fossils have rot been discovered. Reading fossil records we would say that vascuiar plants appeared
first, then mosses and then liversors.

1
1 L) T
e
488 i 414 Em 230
BNy a0

However, phylogenetic relationships {ghown in the figure) sugpest otherwise. It may be that

{A) evolutionary history can be read directly from the fossil record.

(B) the moss lineape goes back to at least carly Silurian/carly Devonian.

{C) fossils can only set a maximum age for a lineage.

(D) fossils can only set a minimum age for a lineage.

(E) the divergence hetween liverworts and the rest of land plants goes back to at least the early
Credovician,
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Which of the following statements s correct?

L. (A) (B), (C), (E) 2. (B), (D) (E)
3. (A), (B), (D), (E) : 4. (B), (C), (E)

aﬁ#a'wvﬁavﬁﬁﬂaﬁwﬁnﬁmmwmammﬁﬁﬁwzﬁﬂ?ﬁnwaﬁﬁxrnﬁ'arrarﬂrﬂa}f
7 gw i F e @EE o) B w aenaT B 3T 9 s mitegl & weT § &
T W v T el g e AR g a7 s e g

| T i weta o ¢ Ruw e § s W aTEiE B @ e amvaea a8 @
2. ey wel aEehy site s S |

3 T W # wewwy AE vE waers davey & g g |

4. wooRwmly # amwE 4w av |

Northern Elephant seals had been reduced to about 20 individuals in the 1800s. Biologists studied
variation in proteins in the species. They found no genetic differences in the protein among dilferent
individuals, This lack of variation is duc to:

the fact that elephant seals live in a constant environment where there is no need for Fenetic variation.
population bottleneck and genetic drift,

natural selection resulting in a single best genotype,

& very low rate of mutation.

il SR

! Brpfinr oo F At @ o Boam 0w o o nt B fF aTEer & () @ il
@ﬁ?ﬁfwmgﬁﬁmﬁ?}{ii]m?wﬁéﬁﬂﬁ}'wa@ﬁrmﬁa}wﬁmwmﬁmﬁﬁm

1. (i) l/n(ii) < I/ 2. (i) Im{ii)> l/n
3 () 1 i = 1 4. (D) Un? (i) > 1/n®

There are ‘n’ number of alleles for a given locus in a diploid population. The proportion of all
homozygotes in the population (1) if all alleles are equally abundant and (ii) if all alleles are not equally
abundant, will be:

Lo (i) Un (i) < Un 2. (i) Vi) > 1/m
3. (i) Ul (i) < 1n? 4. (i) Lin® (i) = 1’

a‘:‘rﬁfmWﬂﬁaamﬁawﬂwa%a?nﬂaﬂ@ﬁﬁ#ﬁwmﬁﬁw##ﬁ?—mmmwm??

1. oak (all) o st wftst @ i ot @ Sy age @ wewd det )
gom H wgf st 47 ferm Ew E )

1. wm dft Ty amnE A @ weee &9t 3 gEw 7 el dt @ oeemE o g
By sl ® FEt s g ey sar &

3, weEl o et @) gee o s Sy et @ S @ av s dw e &

4wl st vl & Frfie et B s ol s B 8
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Which of the following is a prediction of the neutral theory of molecular evolution that is supported by
data?

1. Humans and chimps differ more in DNA sequences of pseudogencs than in coding regions of
functional penes.

2. Humans and chimps differ more in DMA sequences of coding regions of functional genes than of
pseudogencs.

3. Humans have a faster evolution of most of their DNA sequences than ehimps,

4. The more advanced species have more number of functional genes.

it ww @ ot F Y v ofle et g £ whe B e @ weewy GET Wl
frfinr sz ehfT afcyl & o= & F T T aF # peT wewe aad § ) o 3iE FiF
& ol wa g gl ot @ my welt £ a wan A w et wit ol e peegE W T5% 0@
wai gt & | owg % any ot wr weerr wE gl ol w e mom ot e wakr @ wE-aet
e anarieE |y ZT gFm oo

—
I

=1W ﬂmf_.___,_.—-—
Ers ™ =
|
Pufl . == =
b o T oy o Pl - T
ne, &F makve mabed no. ol makes maled
3 4,
H-llw - =1[‘-\T
e — = — ﬁ?ﬁ 3
%m \ - !H
Ejﬁ k
]
p -
o N Q

I I T
e, of maabas mated

; P B T
e, oof ks mabed

In hymenopteran insects, males arc haploid and females are diploid. All fertilized eggs mive rise 1o
females and unfertilized eggs give rise to males. As a result, if a femnale mates with a single male, the
females in the progeny are related 1o each other by 73%. But if the mother had mated with many males,
the mean genetic relatedness of female progeny is comectly represented by:

1. Z
100 51#.‘_.___,_.—-—'—
ET-E kL]
fu iw
&
ET e
a o T
N, of sk mated fid, of Frabis raned
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I, 715 (A) 2. T (C) I (Bye (O 4. (A)ez (D)
In a Radio-immuncassay (RIA) for glucocorticoid hormone, radicactive glucocorticoid
(tritiated) is added to the RIA cocklail, When the amount of bound hormone was measured no
counts were observed. The following cxplanation(s) were proposed:

A The radioactive hormone was insufficient,

B The radioactive tag to the hormene completely dissociated during storage.

¢ Antibody was not added to the cocktail,

D The specific activity of the tritium was low,

Choose the correct option(s):

1. (A) only 2. (C) only 3. (B)and (C) 4. (A) and (D)
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Which of the following curves correctly represents the process of antibiotic production by
Sireptomyces sp. i

1 .
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For the generation of mansgenic plants in crop improvement, one important regulatory gene X was
overexpressed in a crop plant. Out of 30 wansgenie rice plants generated, 22 showed high levels of
gene X expression. However, rest 8 lines displayed low levels of expression. One explanation of such
observation may be:

L. suppression effect of the ransgene, 2. lmock-down effect of the gene X,
3, gene silencing effect, 4. co-suppression effect of the transgene.
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|, demE 3 s deme 4 2 ol g owl @ e e F sET-awm MHC s oey
S

3 deres 4 e deTEd & @ o e sa ad e Al F et o o ol ve T i o
fer gt & 4 .

1 dewE 3 e turge 4 F 53 S v e gu e KLH @ seme T a6 e |

4, durmE 3 o terEw 4 @ u agler TR @ guw R R MHC @ o @ sferi
78 @t |

Ten different mouse.strains were primed with whele Keyhole limpet hemocyanin (KLH). KLH
was broken into ten peptides for in witro stimulation. The splenocytes from ten different
primed mouse strains were restimulated with each of these ten peptides and the responsivenes
lo these peptides were measured in vitre, It was found that cach of these mouse strains had
responded to one of the peptides. When the peplide 3 responder was mated with peptide 4
responder, the splenocytes of F, offspring respended to both the peptides. Which of the
following is most appropriate?

1. Mouse strains responding to peplide 3 or peptide 4 have different MHE haplotypes.

7. Mouse sirains responding to peptide 3 or peptide 4 have either of these T cell receptor.

3. Mouse strains responding to peptide 3 or peptide 4 cannot process KLH.

4, Mouse sirains responding to peptide 3 or peptide 4 did not express MHC class-1 molecule.

g wierd (stem cell) 7 Zrae &7 § g9 qAeaT qw 3 A= swEdl § Gl of s F
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qware @ B e d @ si-d Ry i waile geRe sevel ol ?
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Stem cells are widely used for their regenerative property and capacity to differentiate into different
lineages. A person with a damaged liver approaches a stem cell therapist. Which of the following
therapeutic strategics would be the safen?

l. Procuring adult liver cells from a healthy doner and grafling them into the patient.

2. Transforming skin cells from the patient into iPS cells and using them for further dilferentiation
gnd grafting in liver.

3. Injecting embryonic stem cells into the damaged liver

4. Injecting cord blocd cells into the liver directly.
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If one wishes to design a microarray chip for whole penome t:.‘tp;ri:ssiﬂ-n analysis of an eukaryotic
system, which region of the gene should be preferred for selection of unique target sequences?

Any region of the coding DNA sequence (CDS).
3 region of the CDS and 3" untransiated region (UTR).

|
2
3. 3'region of the CDS and 5" UTR..
4. 1% intron only.

sy @ 5 o e F BT e e st A swid 07 Rwmgew wver 8 et €

5'-dephosphorylated DNA + [y'*P]dATP + T4 polynucleotide kinase (T4PNE) and incubated

“for 2 hour —* Ammonium acetate —> Tris-EDTA —> gthanol.

afe REHE Eivar witvy § NH, @) senwr Benw g o A R @ Bi-w w3 ol 58
T wEE R & 7

|. NH. & TAPNK @t 57 77 907 & oo wdos se a9 it &

2. WH,' am TAPNK & wafar v o & s oot Sloay Beo o gufes 787 #9r onew
3. NI 3y & TAPNK o7 55 by a8 s & 1

4. NH," s dfivae # ey o 3 ¢ van e swor e et d )

For 3' end labeling of DNA, the following reactions are carried out seguentially as indicated.

$'-dephosphorylated DNA + [y“P|AATP + T4 polynucleatide kinase (T4PME) and incubated for 2
hour —» Ammenium acetate —* Tris-EDTA — cthanal,

If trace amount of NH.'-is present in the initial DNA mix, which of the following statements would
most likely be trug?

NH," ion activates TSPNK, thercby increasing the labeling cfficiency.

NH, ion inhibits T4PWE, therefore should not be present in the DMNA mix.
NH, ion does not have any effect on T4PNE.

MNH.,' ion dephospharylates DNA, therehy increasing the labeling efficiency.
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143,  Four different receptors viz, A, B, C and D bind to the same higand X. In arder to determine which
receptor has the highest ligand binding affinity following experiment was carricdl out. Cells were
transfected with green fluorescence protein (GFP)-tagged receprors (A, B, Cand D) individually, tlr}t:n
incubated with red fluorescence protein (RFP)-tagged-"X" and subjected to FACS analvsis. Following
are the results

Racoptor & Hocepter B Recoptor C Rua_ptuf o

g ) |
2% 5% | (5% 19%|  [19%52%  |&% 24%
RFP ' i :

1

|19 |24%] 5% 5% | 24% |19% 524

GFP

Which receptor has the highest ligand binding affinity?

1. A . B i AR 4. D
144, =t g wdly wemEt SRt @ greee T @ snga e WY (P g aee S
T wod | fae
A | grerae o @y 100 o 100km
B | 30 v oged o wear 30 36
C | gretee o o sitam w gl 10 m 40 m

i ® smiw g Fer & & Ehh-w g ann @ wwar 8

Y W w7 ages aenen abe # R oA Rond e Al 2
& W @ WEew s @ # sl Ry oft aw 3 E
g @ o wgen g st 2 Sfew R o Rany o9 o @

weld Few o e st frang gt @ R of Fee ager @ @g wie W gew T @ w
wEA

bl i

144, During line transect sampling of two solitary species of ground mammals the fellowing obscrvations

were made:
Smaller species Larger species
A | Transect length 100 km 100km
B | No. of animals sighted a0 36
C | Mean perpendicular distance from transeet line 10 m A m
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Which of the fellewing can be inferred from the data?

The smaller species is more abundant but seen less frequently.
The smaller species is less abundant and seen less frequently.
The larger species is more abundant but seen less frequently.

The larger species is seen more frequently, but its abundance cannot be  compared with the
smaller species.

B b —

et et & 2 Trp sfivd Tyr a@fome & ¢ QIS @& anftaw s b 17000 D 8 st Trp o7 Tyr &
# 204 FiT 180 D. 280 nm ov, B @ 1% (wiv) Tep §7 Tyr iwr &7 | 54 i @ & s
T FP eenr & e 269060 i 8333 # o oET @ 280 om o | mgim] B 8)F 09 lem
ST o s 2

1. 0.1 2. 10 ST E 4. LET

A protein containg 2 Trp and 4 Tyr residees. The molecular mass of the protein is 17000 D and that of
Trp and Tyr are 204 and 180 D respectively. Values of E| . the absorption coefficient of 1% (g/v)
solutions of Trp and Tyr in 1-em cell at 280 nm, are 269.60 and §3.33, respectively. The absorption of
| mg'ml protein salution in 1-cm cell at 280 nm will be:

| B | 2. L0 < SN 4. 1.7
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